1. In an experiment four quantities 2, b, ¢ and 4 are
measured with percentage error 1%, 2%, 3% and 4%
respectively. Quantity P is caleulated as follows :

&b’
cd
% error in P is
(1) 14%
(3) 7%
Answer (1)

> b?
Sol. P=——
° o

= gx 100 = B[Ex 1{](]] -'.-Z[ﬂ—bxlﬂﬂ}i'
P @ b

P=

) 10%
4) 4%

(E+ 100J+[&—d><100)
¢ d
=3x1+2x2+3+4
=3+4+3+4=14%
2. The velocity of a projectile at the initial point A is

I(Zf + 3;..?) m/s. Its velocity (inm/s) at point b is

-
A ir}i’

1 -2i-3j ) -2i+3j

3) 2i-3; () 2i+3]

Answer (3)

Sol. X component remain unchanged and Y component
reverses.

3. A stone falls freely under gravity. It covers distances
hy, h, and iy in the first 5 seconds, the next
5 seconds and the next 5 seconds respectively. The
relation between i1, I, and ki is

(1) h, =2h,=3h,

I,

h, iy
(2 h1=?- =

(3) A, = 3h, and I, = 30,
4 hy=h,=h,

Answer (2)

Sol. hy:h,:h,=1:3:5

ferdll AT F IR TR q, b, cTM 4F AH ()

I 1%, 2%, 3% T 4% T FE 2R 21 TF A

P W Tfeiad w7 4yl faear sam
A b

iy

A P HOA F ufawE (%) IR SE

(1) 14% (2) 10%

(3) 7% @) 4%

I (1)

W P=

a°b*
cd
_ %xlﬂﬂ E 3(Ex 1on)+ Z{ﬁ—:x mu}

f

(%+ 100)+(%x 100]
=3I +2X2+3+4
=3+4+3+4=14%
ot wi =7 uRPE g A R I (7 +3)) mis
&, 3 W g B W AT (m/s ) 2T -
y

B
A -X

(1) -2 -3] 2) =27 +3]

@ 21 -3] @) 27 +3j

I (3)
T X 9% RafHd &1 2 91 Y 9e& fuda 3mr 21

3.

TF TR HFaeT A oy fRAT 21 98 TR T8
i (5) RS ¥ 1, 20, IS I 5 AFY F n,
T IW I WP 5 IS A W W FA R, A
Ry, oy T 1o, ¥ R

(1) Ry =201, = 3k,

(2) }"-1=_3“=_“

(3) h, = 3h, 99T h, = 3k,
@) h, =h,=hy

Il (2)
B hythy:hy=1:3:5
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Three blocks with masses m, 2 and 3 are
connected by strings, as shown in the figure. After
an upward force F is applied on block m, the masses
move upward at constant speed v. What is the net
force on the block of mass 2 m?

(g is the acceleration due to gravity)

At

m

3m

(1) Zero
(2) 2mg
(3) 3 mg
4) 6mg

Answer (1)

Sol. All blocks are moving with constant veloeity so net

force on all blacks are zero.

The upper half of an inclined plane of inclination 8
is perfectly smooth while lower half is rough,
A block starting from rest at the top of the plane w1l
again come to rest at the bottom, if the coefticient ot
friction between the black and lower half of the

plane is given by

1

tann 6

1 n=

2
2) u=—"—0
8 v
3) p=2tan®

4) u=tan 8

Answer (3)

Sol.

mgsin® L = umgcosO x%

= Jeih b =2tan®

cosh

— g Ly

4, A7 =R (EH) FFTIAE BT o, 2m T 3m E,
I s (fom) & oo W sgaR SRAT A T E m
ik W SR & AR Fad A W1, 9t e vF
FOR 91 0¥ W A AR AT & &1 2 m T
F wiE W AIE 9 fFa 87 (o e )T ')

e
m
2m
3
(1) I
(2) 2mg
(3) 3 mg
(4) 6 mg

Jeil (1)

W O wie FET 3 ¥ afadie € el 9 W e
o= T 3

5. Tl 9q-auaa &1 9 0 81 IGFH S ST HAT
gviE: Faeam 2 o feer smem wRed 2 W
-9 & T R ¥ i () oS
3R Traear &1 9 I 9R9 ¥ faow fafa 3 ar
1, fFeeT g, 9% 39-9999 @ 9 | R ¥ faaw
RN A I IRAT 9 e 3R A9 -Tad & e
3T AT & S uo IV 6T W S
1Iu=—l—

(1) tano
e 2
@ Y= Gne
(3) u=2tan®B
4) p=tan ©

IN (3)

L/2
w2
6

L
mgsin®-L=umgcosBx 5

) _2smnd _

2tan
cosB
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6. A uniform force of (35 +j ) newton acts on a particle

of mass 2 kg, Hence the particle is displaced from
position (25 -2 1’:) metre to position (4£ +3j- f:)
metre. The work done by the force on the particle is
1 9]

2 6]

3) 137

@ 157

Answer (1)
Sol. F=3i+] S=F, -7, =2i +3] -2k

W=F-5=6+3+0=9]

7. An explosion breaks a rock into three parts in a
horizontal plane. Two of them go off at right angles
to each other. The first part of mass 1 kg moves with
a speed of 12 ms™ and the second part of masz 2 kg
moves with 8§ ms™! speed. If the third part flies off

with 4 ms™ speed, then its mass is
(1) 3kg

(2) 5keg

(3) 7kg

4) 17 kg

Answer (2)

Sol. E’+E+E=ﬁ

= 1x12i+2x8j+P =0

P, =—(12i +16])

P,=+12>+16> =20 kg ms™

6. mmmwzkg%raﬂwqi(shj)%
WWWW%I@'&%WW(ZE+E)
Ao J -(4E+3}—E)ﬁaf@1ﬁﬁﬁwﬁaaﬁﬁm
B W 9 2N g T o #

(1) 97
@ 6]
3) 13]
@ 157

Il (1)
w: 'F=3§+}' S=%, -7 =21 +3} -2k
WP Bugyisb=9]

7. &4 e w999 ¥ & 9@ ¥ BERE & SR
FAF A9 WA B AW F1 A AN O T Y GHEIT
W 9ol A €1 T8 YA Sl gHHH 1 kg @ 3R 38
12 ms-L FT AT I IS FEAT ) T TR T IS
2kg® 3R 98 S ms ' FI U A AT F&T B AR
TG TR 4 ms W T ¥ T T E AN, TR
FZWE R

(1) 3kg

(2) 5kg

(3) 7kg

(4) 17 kg
TR (2

o

®: P +5+P=0
= 1x12{ +2x8j+B, =0

E:—(uhm})

P, =127 4+16% =20 kg ms™

collegedunia:s

India’s largest Student Review Platform



S.  Arod PQ of mass M and length I 1s hinged at end P.
The rod is kept horizontal by a massless string tied
to point Q as shown in figure. When string is cut,
the initial angular acceleration of the rod is

Fiiiilifiiied
P Q
/]
o« T: |
38 g
(1) 5L (2) I
. 5.
4 4
(3) T @ 37
Answer (1)
L
P 2
Sol. @ i IQ
e
L MI?
27 3
38
9T

9. A small object of uniform density rolls up a curved

surface with an initial velocity ¥, It reaches up to a

30*
maximum height of - i with respect to the initial
sl

position. The object is
(1) Ring (2) Solid sphere

(3) Hollow sphere (4) Disc

Answer (4)

8. UF BT PQ I 7 M¥ 3R T &8 L2
T8 BT Plig w fior & o€ 2 fog 9 Rmml W&
IFER, BT & R QW 4l TH-RE vF b
W a0 T ?) O W@ @ TR R
A 3, FT T IRNE TG T BAT

ALELIELLAIEE

-

L

LMD
Mo = =
Me5="3

-
= %73

9. fdl ST ulg & 9 wEHaHE 31 98 R ah
FA W IRAF A1 ' ¥ FW A AR qowal 2

2
wmmm%m% FAE 9%
qgﬂﬁ%]ﬂgaﬁ'%ﬁ

(1) far (Sem) (2) 39 Ter
(3) @REAT el (1) o=
I ()
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10. A body of mass 'm' taken from the earth's surface to
the height equal to twice the radius (R) of the earth.
The change in potential energy of body will be

(1) mg2R

2
(2) ET“ER

(3) 3mgR
1
—mgR

@ Sm

Answer (2)

mgRl  mgR2R 2mgR

MI = = -
Sl R+h 3R 3

11. Infinite number of bodies, each of mass 2 kg are
situated on x-axis at distance 1 m, 2m, 4 m, S m, .....
respectively, from the origin. The resulting
gravitational potential due to this system at the
origin will be

e

Us | G0

1) -G 2)

(3) —%G (4) 4G

Answer (4)

1 1 1 1 ]
St

Sol. V=—2G[I+—+—+—

’ 1 1 1
e~ —ZG 1+—+_+_ -------
[ 2 o ]

= 2G5~ 11_
(1“2‘}

12. The following four wires are made ot the same
material. Which of these will have the largest
extension when the same tension is applied?

T

(1) Length =50 cm, diameter = 0.5 mum
(2) Length = 100 cm, diameter = 1 mm
(3) Length = 200 cm, diameter = 2 mm
(4) Length = 300 cm, diameter = 3 mm
Answer (1)
L L

AL =——, — is maximum for option {1}.

Sol. ™
AY A

10, 'w'FH # UF Fg B A RN @92 (T9) 3,
IaET oo (R) ¥ 21 I S O o 9| SR 2l

geg i Rolfe Sl A uRad A

(1) mg2R (2) %ng

(3) 3mgR (4) %WSR
I (2)

mgRh  mgR2R  2mgR

R+h 3R 3

11. 9 & & g ¥ T o T 2kg B F
TP xR, 90 g & % 1m, 2m, 4 m,
Sm, ... ,@Wfﬁlﬂ%lgﬂﬁm%w,‘iﬁﬁﬁ

T All=

R IR e fove 2R
8
1) -G @ -3¢
3
IR (4)
Bel- V=__2Grl+l+l+i........:|
12 48

" 1 1 1
= G144 — e
ir 9 22 23 ]

1

-]

12 FifFd IR IR E A R I = | o o ®
TE 9T T AN A1, e =SS afiE R
27

(1) 9] & &g = 50 cm,
IR FT =A™ =0.5 mm,

(2) 9 T @W=E = 100 cm,
A T &9 =1 mm,

(3) 9 F @& = 200 cm,
dR KT =AM =2 mim,

(4) IR & g = 300 cm,
d KT &= =3 mm,

I (1)

= -2G =—4G

g i L
B: .&_Ay,ﬁw ()& fore = A 2
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13. The wettability of a surface by a liquid depends | 13. Rl W= (TE) & ol 29 9 e B e R

primarily on Tl '

(1) Viscosity (1) FFEAlI |

(2) Surface tension (2) T FHE R

(3) Density (3) TG ®

4) E;ils of contact between the surface and the @) TS T 7 S . -
Answer (4) SR

14. TR o o R 3T R R ey A9 S AR
faftre g7 <7 sFASE C, 9 C, ¥ Pl ferr s

14. The molar specific heats of an ideal gas at constant

pressure and volume are denoted by C}_ and .

C
C, 21 Al y=—Lsiix rurdfEw W foaw & A, C
respectively, If ¥ =C_ and R is the universal gas C,
’ T &
constant, then C_ is equal to
..1 I]__!_‘t:,l
i f 115}
A I 1=
0 i .
R R
2
ey ? 5D
(r-1)
@ g =D
R
(4) YR
4) ¥R
Answer (2)
T (2)
” -
Sol. C, =?Tq T C, - R
]

15. A piece of iron is heated in a flame. It first becomes | 15 R ¥ v s ) fd) & (9owr) W IRT faRam s

dull red then becomes reddish yellow and finally 31 T Yo Tl =T, TR & 0T 3R o T
turns to white hot. The correct explanation for the T B AT R 2T YT o R S R
above observation is possible by using

(1) T & T
(1) Stefan's Law

2 iaﬂqu ii]l]:q
(2) Wien's displacement Law @ % 3

(3) Fora® & AW 9

(3) Kirchotf's Law
(4) Newton's Law of cooling (4) A & faa a4
Answer (2) I (2)

Sol. 4, T = constant L LS =fAaq
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16. A gas is taken through the cycle A - B — C— A,
as shown. What is the net work done by the gas?

P(10° Pa)

i

0

s

3

2

1

0 V({107 m®)
(1) 20007 (2) 1000 T
(3) Zero (4) —2000 ]

Answer (2)

Sol. VW = Area enclosed in P-V curve

%XEXIO'EK":EXlDE

=10 x 10?
=1000]

17. During an adiabatic process, the pressure ot a gas
is found to be proportional to the cube of its

temperature. The ratio of £ for the gas is

C

]

W 3

(2) 2

&)

4)

Mjw wur

Answer (4)

Sol. P'c T,
PV =nuRT
P T°
Pe (PV)P

P2V = constant

| L

PV2: = constant

b2
=3

16, OF 9 57 o (@) § 9 W FER A B
— C — A TR 9% ¥ T&RT S0 21, 39 2R

foFar T A7 oW ®

P(10° Pa)

Ul

[

=T

(1) 2000 ]

(3) I
TR (2)

(2) 1000 |

(4) — 2000 ]

B W =PVaF ¥ e SEwe

1 5
= —x5x 107 x4 %10

=10 x 107
= 1000 J

V(1073 m®)

17. Fordl =2 9 & U 39 o 9 S9S 919 & 99

(F9) & FHIR IR0 S 2, O 39 O & E—P

& A 2

m 3

-
walun

2 2

(4)
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18. In the given (V - T) diagram, what is the relation | 15, 29 W (V- D) 3@ ¥, @@ P, P, W &
between pressures P, and P,? Haer &7 )

v

(1) P,=P,
@ P,>P, (1) P,=P,
? @) P,> P,
3 B,e P '
(3) Py <P 3) P,<P,
(4) Cannot be predicted (@) FruiRe =& fFr < a6
Answer (3) I (3)
"y -
o7 e~ 1
Sol. Slope of the graph E— B WM F 2 o —

19. The amount of heat energy required to raise the

temperature of 1 g of Helium at NTP, from T,K to 19. AFF 9 T I R 1 g AT F1 a9 Tlaﬁﬂ:{ kil
T.K is T, &Ra 9% e & faw smams Foiig Fel &
E ' A 7

(0 %Naka(rz -T7;) (2) %N,kﬁ (T, -T;) 'y .
- 1 S Neks (T~ Ty) @) FNks(T - T)

'3 3 I
@ FNHL-T) @ yN&s|7
Answer (1) 1
f I (1)
Sol. Q='ErLRﬂT i
5 T O ={-nRﬁT
—xX—xkzgN, AT : B
2 4 3.1
) —X—X RBN:: AT
3 3 2 4
= EN;:RB (I, -T; )= ENnkE (I -T,) % .
e 3 3 :
= ENR'ICE (T, -I1)=EN:=RB (L-T,)

20. A wave travelling in the +ve x-direction having
displacement along y-direction as 1 m, wavelength | 20 s (+"JE) xfem ¥ wo9r 78 f&dt 9tr =1
' yRaw ¥ BT 1 m, 5@@e 2 mm T 99r @dt

I ~Hz 31 39 00 & Tl WA A

21
27t m and frequency ot :J:" Hz is represented by
}

(1} ¥ = sin{x - 21) (2} v = sin(2mx - 27#)
G R s DR 1 5 i (1) y=sinx - 2§ (2) ¥ = sin(@nx - 2mi)
= = i il £ A
)k Y=l = (3) v = sin(10mx - 20mt) (4) ¥ = sin(2mx + 27)
Answer (1) I (1)
Sol. V=i S]Il(kx - ﬂ]f) ™ y=a Sil‘l(;ﬂ' _ mt}
.| 2% 1 '
= S'“[EX_ZHXErJ = Sin[g—;-x—Z.nx-%t]
= sin (x - 2{) = sy (X« 28
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If we study the vibration of a pipe open at both
ends, then the following statement is not true

1)
(2)

Open end will be anti-node

Odd harmonics of the fundamental frequency
will be generated

()

All harmonics of the fundamental frequency
will be generated

4)
Answer (4)

Pressure change will be maximum at both ends

Sol. At open ends pressure change will be zero.

22, A source of unknown frequency gives 4 beats/s,
when sounded with a source of known frequency
250 Hz. The second harmonic of the source of
unknown frequency gives five beats per second,
when sounded with a source of frequency 513 Hz.
The unknown frequency is

(1) 254 Hz (2)
(3) 240 Hz 4)
Answer (1)

Sol. 250 <

- Unknown frequency is 254 Hz.

246 Hz
260 Hz

25yl e B} 5 beats

I 513
/

246 —— 497 * 71 beats

23. Two pith balls carrying equal charges are
suspended from a common point by strings of
equal length, the equilibrinm separation between
them is 7, Now the strings are rigidly clamped at
half the height. The equilibrium separation between
the balls now become

MEW
X [_LJ
O \H
) [31]
© 5
Answer (2)
- F' tans
Sol. F,=mgtang, =-=——2
W Gl F, tane,

21, A R W G W F I F R FE W F
wE A8 27
(1) T B W g 3
(2) ¥ AR F Fau IS I~ 2
(3) ¥ agfe & Wit 99 I 2T
@) 3N Y W o IRaST T 2

I ()

To: o B ) 2w aRads 3= Smm

20, ¥ AT H T B, 250 Hz gy & &l a1
| F e Ui VT 4 R IS F 31 e

i T AT I (IR, 513 Hz I F
9 F 919 5 o o ¥ 39 & 39
o g &
(1) 254 Hz
(3) 240 Hz

T (1)

(2) 246 Hz
(4) 260 Hz

254508 ¢ 5B/s
513
D46=— 492 "'51' E/s

;. 3T AERT 254 Hz B

T 250

23, w&e () & 3 96 (Afedl) | 999 (T0R)
IEW F TR 9 s 3 IR (UR) ¥ o fag
¥ AHAT W | G N FE F e A9 A
T+ I A PN IS SN THE W FF
ar for S 21 | age & Rufa ¥ IR0 el
& 9 o 2 o
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24. A, B and C are three points in a uniform electric
tield. The electric potential is

B A

—
—r » F

o

(1) Maximum at A

(2) Maximum at B

(3) Maximum at C

(4) Same at all the three points 4, B and C
Answer (2)

Sol. Electric field 15 directed along decreasing potential
Vg> Vo>V,

25. A wire of resistance 4 © is stretched to twice its
original length. The resistance of stretched wire

would be
1 2Q
2) 4Q
3 882
4) 16 Q
Answer (4)
Sol. R" =160 (R’ = n’R)

26. The internal resistance of a 2.1 V cell which gives a
current of 0.2 A through a resistance of 10 & is

1) 028
(2) 05Q
(3) 0.8CQ
@ 1.0Q

Answer (2)

E
T=—
Sol. R

0.2x(10+1 =21

y -
10+r=—=x10
2

T=105-10=05Q

24, A, BAW CTREr vFi TRE &9 ¥ 99 fag €|
faga fava &1 wH

*A
3 > E

«C

(1) AR ferFam 2

(2) BW AR €

3) CW JfirFan &

(4) W T3l A, BIW CR 99 2
I (2)

Ta: faga A9 s fave & sHfew HERE 2
Ve V>V,

25. UF AR o U 4 Q ¥, THFET GiTa] W wEE
HH A T A R T A AR A IR
BT

I (4)
W R'=16Q (R’ = n?R)

26, 21 VF TF 49, 10 QF IFT 1A & 0.2 A URT
yaifes &ar &, 9 34 I o A=RE R 2nm:
(1) 02Q
2) 05Q
(3) 0.8Q
4) 100

G (2)

. E
R+r

-1 |
02x (10+7) =21

1(]+?*=Exl[]
2

r=105-10=05Q
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27. The resistances of the four arms F, O, Rand Sin a
Wheatstone's bridge are 10 ohm, 30 ohm, 30 ohm
and 90 ohm, respectively. The em.f. and internal
resistance of the cell are 7 volt and 5 ohm
respectively. If the galvanometer resistance is 50
ohm, the current drawn from the cell will be

() L.OA (2) 02A
(3) 0.1A 4) 20A
Answer (2)
Sol.
100 300
@300
300190
L AN~
7V 50
LA
120 + 40
" 7V
b R
(30 +5)Q

28. When a proton is released from rest in a room, it
starts with an initial acceleration g, towards west,
When it is projected towards north with a spead @,
it moves with an initial acceleration 3a, toward
west. The electric and magnetic fields in the rcom

27, foFdl <fiedm s (Jg) 3 9K IR P, Q, RAAT
S TieRrET F99: 10 Q, 30 Q, 30 Q WM 90 Q Fl T
2 AT & SWYE, (e f) 7S TAN SR s
5 Q1 I fAa-rie 7 ST 50 OF A 99 BN
yafed faga omr & W= AT

(1) 1.0 A (2) 02 A
3) 01 A (4) 20 A
JEe (2)

| LK

2Q
=300

40% 120
120+ 40

- ?V a
{30+3)0

25, 99 TRl 0 A OF IRH FF FRET A9E ¥ qEd
feram S A1 UF URDRR SRV 0,9 W o
AR A AT F1 AR T o, A ¥ I W AT AR

Y frar oem 2 A 98 IR <R 34, 9 IR
foam o SR e 21 9, W T H R T A

aff =

02A

o g #
1 "% west, il up g, 2wna,
1 ev, 1y — > R, TR A I
a ¢ Eaﬂ
ma, 2w, ma 2ma
) > est, = down ) EE R 9 3, = Y 7 P
i O
ma ha :
3) = % cast, ®up ; tia, of 4 o, 3ma, TR FT IR
¢ 5 3 7, ev,
ma, _ 3ma, | 3
east, down e i
@ ev, (4) Ti&rﬁm: ev, G
AI[S‘F_'FEI (2) I (2)
eE mag )
LEE S m eE i,
£v,B + eE 7
T = S.ﬂn EUUB-+ eE _ 3%
: n
evyB = 3ma, — ek ev,B = 3ma, - cE
= 3ma, -~ ma, = 3y — may,
= 2ma, = 2ma,
B ety €Uy
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29. A current loop in a magnetic field

(1) Experiences a torque whether the field is
uniform or non uniform in all orientations

(2) Can be in equilibritun in one orientation

(3) Can be in equilibrium in two orientations, both
the equilibrium states are unstable

4) Can be in equilibrium in two orientations, one
stable while the other is unstable

Answer (4)
Sol, Parallel M — stable

Anti-parallel Wi - unstable

30. A bar magnet of length ! and magnetic dipole
moment M is bent in the form of an arc as shown in
figure. The new magnetic dipole moment will be

(1 M

3
(2) EM

9
(3) ;M

M
@ =
Answer (2)
Sol. M=mL
Ii=—sy P
3 18

M'=rrz><r=m§£=~%¥—-
T n

31. A wire loop is rotated in a magnetic field. The
frequency of change of direction of the induced
e, is

(1) Once per revolution

(2) Twice per revolution

(3) Four times per revolution
(4) Six times per revolution

Answer (2)

20, fopdl T &9 § UF URT-NI (]9) ¢
(1) R o0 A= (Rafadl) & swsmgel (34)
WA 2, IR T &7 e B I S|
) f&d v fafa (affa=mE) 3 99e= o & 9
£
3) o o=l F age- W E 9T € 3R ¥ e
I SRR B ¥
@) = anfeaE § 99 ¥ & 95ar & SR o
GIo IR A1 ¥ SR 60 I
IR {4)
T SR -
AR J] - SRS
30, UF BT (3T) TAF N w7 R IR TR TR
g s-smt ‘M 21 R 29 s (Rw) F =ed
W AR UF A9 & JFR A A T w9, weE
T R T S enm

3L

T =—

T

-y

3L 3M

M=mxr=m—=2"_
T =

31. 9K o @ U (V) 0 e &9 ¥ e T
21 O v R (W) ¥ T T € @ o
(em.f) W fFaw § wRas 9 g S 2 -

g8
L=—xr

(1) ¥ dR (2) ¥ 4R
(3) ™I €T 4 & TR
TN (2)
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32. A coil of self-inductance L is connected in series
with a bulb B and an AC source. Brightness of the
bulb decreases when

(1) Frequency of the AC source is decreased
(2) Number of turns in the coil is reduced

(3) A capacitance of reactance X = X; is included
in the same circuit

(4) An iron rod is inserted in the coil

Answer (4)

Sol. Z=\R*+X? ={R*+(Q2nL)
= E,

7
33. The condition under which a microwave oven heats

up a food item containing water molecules most
efficiently is

P=PR uT LT 2T 1l PL

(1) The frequency of the microwaves must match
the resonant frequency of the water molecules

(2) The frequency of the microwaves has na
relation with natural frequency ot water

molecules

(3) Microwaves are heat waves, so always produce
heating

4) Infra-red waves produce heating in a
nucrowave oven

Answer (1)
Sol. Electromagnetic waves,

34. Ratio of longest wavelengths corresponding to
Lyman ancl Balmer series in hydrogen spectrum is

5 3
s F —
O % @ 53
7 9
@ 55 @ 37
Answer (1)
Bol. B e
i1 *
4
. 1 1 36
B
1 1 5Y 5R
Ais) *)
A, _ 4 5R
Ay 3R 36
_5
27

32, U el ol W-Uahed L 31 49 o & A ¢
fR@ 97 B a1 @& ¢ 49 (AC) &1 ¥ T4 2l
T " & Y o AT (i) F9 S S, S
() T & (AC) ¥ 91 3IEfy 37 & Yl
) TN § B T 9 FH & AN
(3) = IRy ¥ o quilE shuE X, = X, 98 B

B!

@) FIH T AL A & BT T F AW

I (@)

- .Z=1/R1+.XE =R* +(2wfL)’
I=g~,P=1’3R, ut LT zT 1L Pl

33, Fefefed ¥ & R 3w ¥ R AR (W9 )
3T & T Y] gFT WIS TR R I T gEan
e 2R1 7
(1) e T4 (AEHEE) i SR, S| @ e Al
I YT & W A T

() W T (MEHET) F FEN T T F SR
1 U g ¥ wE S @ 2 2

@) 99 T FO A A F I 9 FO ITH
Eadi il

(4) WEFET AT ¥ EET IQ A I FEA
2l

Ieil (1)

&9 Ay T S

34, BIEINE & TG W ARHA T R SO F
TR R TR ol A B 2

5 3
(1) > (2) >3
7 9
3 @ 5
I ()
T A, = — 1 -=;2
GT)
4
11 3
B —
e
4 9 36
M _ 4 5R
rg 3R 36
_ 5
Y

collegedunia:s

India’s largest Student Review Platform



35. The halt life of a radioactive isotope ‘X is 20 years.
It decays to another element “Y” which is stable. The
two elements ‘X’ and ‘Y’ were found to be in the
ratio 1 : 7 in a sample of a given rock. The age of
the rock is estimated to be

(1) 40 years (2) 60 years
(3) 80 years (4) 100 years
Answer (2)
Sol.
N_1_1
N, 8 23

3 half lives, T =3x20 = 60 years

36. A certain mass of Hydrogen is changed to Helium
by the process of fusion. The mass defect in fusion
reaction 15 0.02866 u. The energy liberated per uis

(given 1 u = 931 MeV)
(1) 2.67 MeV (2) 26.7 MeV

(3) 6.675 MeV (4) 13.35 MeV

Answer (3)
Sol 0.02866x931 MeV = 26.7 MoV
4 4
= 6.675 MeV

37. For photoelectric emission from certain metal the
cut-off frequency is v. If radiation of frequency 2v
impinges on the metal plate, the maximum possible
velocity of the emitted electron will be (1 is the
electron mass)

W o
o =
B |
@ 2.\[%

Answer (3)

Sol. %mvﬁm =h2v—hv

2hv
Vmax = i)

35. T eanfres (Fanmdl) o ‘X A ol 3
20 99 1 faufeq 2o @7 Y o ¥ Ralda &1 9=
2, of w1 R SeeE § X Y W S

1:79°1 ST 81 W, 9 H AW Ay
2|

(1) 4099 (2) 6099
(3) so=q (4) 100 a9
IN ()

3AEIY, T =3x20=60 99

36. GoE UFH SR BIEEGH & FS AR 1 SifermH #
YRae BT 81 39 YT ¥ T 4T 0.02566 u Bl

N O o AT Fofl BAT @ 7 1w =931 MeV)
(1) 267 MeV (2) 26.7 MeV
(3) 6.675 MeV {4) 13.35 MeV

I (3)

26.7

: 1.02866 x 931 MeV = : MeV

= 6.675 MeV

37. Tl uig A v fage Il & e PRedr (sfeR)
agfer v?1 IR, 39 Ui W 2v IR & R
Aafaa B A, I TergeiAl T HerHa afad
B : (m TSR F A 1)

hv
D (2m)
@
i
| 2hv
(3) Y
| hv
g 3,
&) "\’ m
I (3)

] 1 rd —hz ? }
¥H: Eﬁlﬁm =iV —IH\
N
AT 5
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38. The wavelength A_of an electron and }LF of a
photon of same energy E are related by

: : ; |
(1} lpx}"c {2} lpm?":‘-
_ : 1
A
@) A, xfh, @ 5
Answer (1)
: , _
Sﬂl. 3'_ — 3 =E
T 2mE =T
:&,2 - fi.z
T
_ 2mE
2
22 = i A2 e,
2m—
P

39. A plano-convex lens fits exactly into a plano-
concave lens. Their plane surfaces are parallel to
each other. If lenses are made of different materials
of refractive indices u; and [, and R is the radiuz of
curvature of the curved surface of the lenses, then
the focal length of the combination is

R R

® 2(puy +15) @) 2{1y —1p)

R 2R

3 {1y —u5) @ (M2 =1y

Answer (3)

Sol.

| =
I

38, A TFAr SO SR WA 91 FSl 99 (B) ¥ 3R
$ﬁﬁﬁﬁﬁﬁﬁiﬁm%ﬁﬁnﬁ%ﬁﬁﬁm
EiL

L, -
(1) A, > (2) A, xk,

Y : 1
(@) h, ek, @ M
g} (1)
a h . hc
L £ B R L
N2mE Ap= E
W
2mE
2
2=t a2an
he 5 P
2m—
A

mwwmmﬁwm%wmﬁ@
& W TE S 45 A #1 SHF 9Ed TS 3
¥ wq=R ¥ 9 39 A9 F gl & smEdEiE g
AR & AT I F T YD (ell) = Tohar fm
R# A 3 GaNA & BrF g0 2R

i 2(n; +41,) @ 20 —1y)

R 2R
o . gy ———
) {1y —1y) @ (1 —1y)

I (3)
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40. For a normal eye, the comea of eye provides a
converging power of 40 D and the least converging
power of the eye lens behind the cornea 15 20 D.
Using this information, the distance between the
retina and the cornea - eye lens can be estimated to be

(1) 5em
@) 25em
(3) 1.67 ecm
(4) 1.5 em
Answer (3)
Sol. P, =40D+20D =60 D
100
e

41. In Young's double slit experiment, the slits are 2 mm
apart and are illuminated by photons of two
wavelengths A, = 12000 A and 7, = 10000 A, At
what minimum distance from the common central
bright fringe on the screen 2 m from the slit will a
bright fringe from one interference pattern coincide
with a bright fringe from the other?

(1) Snm (2) 6 mun
(3) 4mm 4) 3num
Answer (2)
Ay _m 1200 6
Sol. 5 " 1000 5
| _MMD _5x12000x1077x2
a4 2x107
= 6 mm

42. A parallel beam of fast moving electrons is incident
normally on a narrow slit. A fluorescent screen is
placed at a large distance from the slit. If the speed
of the electrons is increased, which of the following
statements is correct?

(1) Dittraction pattern is not observed on the screen
in the case of electrons

(2) The angular width of the central maximum of
the diffraction pattern will increase

(3) The angular width of the central maximum will
decrease

(4) The angular width of the central maximum will
be unaffected

Answer (3)

Sol. vT A

40, AWM A9 ¥ FEO (YO 4S9) 6 S o
40 D? T T & N 77 < 9 = avEd
i 20 D31 T GEN § AT & Jeer (evEd)
TN o F 9 T 2 S
(1) 5em

(2) 25em

(3) 1.67 em

4) 15cm

¥ P =40D+20D=60D

100
" Py
a1, W % o R W X RRA (R ¥ 9
T 2mm ¥ FE A, = 12000 A TIT A, = 10000 A
TR F EEA ¥ € (TRRR) R w3
e AR F @ AW 2D A, T AT R
% a9l =99 20 W, T & I a4 9w
& o S SR (T T F FR) Y

(1) Sam (2) 6 mm

(3) 4 nun (4) 3 mm
IN 2)

A _m, _1200_6
¥ 5, wm, 1000 5

LMD _ 5x12000x107x2

4 2x107
= 6 nun

42, T AW A IAN & TG il T W TG,
o T Bl W oreag amfa 1 29 BN ¥ e
= W v yRdd vet war 21 e e f T
7 921 for S @Y, i § ¥ FF W S 9 9
am?

(1) TR F FR 9 | G99 T 0w
EG |

(2) f9a99 T2 & ol ITrE F FY =L 9T
ARAT |

(3) el IS I TGS 9 8 el
@) T IR & F g e sET '@ i
T (3)

s vl R
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43. In a n-type semiconductor, which of the following | 43, #9FR & RHEEF & I FH 9 F9Y9 a9 &7
statement is brue? 1 ; ;
(1) KA T[IEES FAW 5T, 997 F-90F

(1) Electrons are majority carriers and trivalent ] 3T B F
atoms are dopants - : ..
o ik o _ P (2) A FNT HAW AEEF AT YEASH T
ectron are minoniy carriers and pentavalen IANF ‘g?ﬁf ‘E‘|

atoms are dopants

(3) B AW FEW AEF IAT TGN T

(3) Holes are minority carriers and pentavalent

gm=_
\ R;

atoms are dopants I B 2|
(4) Holes are majority carriers and trivalent atoms (4) R TEAEE N e B ¥ A e
are dopants ] afisyE A )

Answer (3) g7l (3)

44. Ina common emitter (CE) amplifier having a voltage | 44. Tl IS IEE (CE) Y9eieh = dicedr afer
g?]i;x *:]31 the E’;rans‘ish:r 1T59;15h§5ﬂ11a11‘:cm:uctﬁce 'G'# | Vg T i SRRl (SRS )
Sk R S R 0.03 %Y 3R uRr @y 2521 AR 3@ TR ¥ =H
is replaced with another one with transconductance )

0.02 mho and current gain 20, the voltage gain will W Tk F GIORET A ER U EEEY
be FEEERTT 0,02 ¥ T URIeisd 208 o Feedr
3 s 2
(1) gG (2) 156G 9
_ _ M -6 2 156G
1 5 7
B S "
® 3 (4) 2 L 5
@ 3G (@ =G

Answer (1) 3 4
; : e} (|

Sc.l : ~ _le::_ (g _ Mc _ M,:- '.Ii: { } | |
A =P% °™ TAV,  ALR) e ” R, ”g Al. AL ]

; r A =P = m o =
; ; : e R, . AV ALK
B ] B .
G= (_ Rf_. Em = _J E
‘Ri n Ri G =( E' }RL |3 J

=gﬂ:RI. = Geeg

[T

= ngL = Gee g:n

G B . 002 |
G 8 003 Gt o 5 00 e
. G, % 0.03
wte .
3 =E{3
45, The output (X) of the logic circuit shown in tigure 3
will be 45, IR ¥ W W I W (FR) = AR (X) BT
. = F
ol e | e e
Be Be——1I '
(1}- X=EE {2) -X =ﬁ (1) X=EE (2} IX=E
(3) X=AB (0) X-A+B (3 X=AB (9 X=A+B
Answer (3) e (3)
Sﬂl. X:E:A'B w: X=E=A'B
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46. The value of Planck's constant is 6.63 x 10-3* Js. The
speed of light is 3 % 10Y nm s-1. Which value is
closest to the wavelength in nanometer of a
quantum of light with frequency of 6 x 1013 5-1?

(1) 10
() 25
3) 50
@) 75
Answer (3)

c
Sol. Vv=—
A

_ 3x 10”7 nms™

A= -
Gx10% st

=50 nm

47. What is the maximum numbers of electrons that can
be associated with the following set of quantum
numbers?

n=3I=landm=-1

(1) 10 (2) 6
(3) 4 4) 2
Answer (4)
Sol. Fact.

48. What is the activation energy for a reaction if its rate
doubles when the temperature is raised from 20°C
to 35°C ? (R = 8.314 ] mol* K}

(1) 342 kJ molt
(2) 269 kJ mol™
(3) 347 k] mol?
4) 151 kJ mol-

Answer (3)
Sol. logK3=— E, |T1_T2
K, 2303R| T,.T,
E, [293-3[15]
log2=-—
2.303x8,314 | 293x 308

& _ 0:301x2.303x8.314% 293 308
il 15

= 34.67 k] mol™ = 34.7 k] mol™!

46, F TORIE T A9 6.63 x 1024 Js & T Y &
T 3 x 107 nm s B 6 x 100 &7, AT A=
Faieq YFIY & FERY A ¥ R ¥ 4 59
I & 999 3R e ey
(1) 10
(2) 25
(3) 50
4 75

. 3x10% nms™
X ——— =50 nm
6x107s7
47. P e TN 3 9y IREa fFae sEeE
A B

11=3,I=13ﬂ?m=—1

(1) 10 () 6
(3) 4 (1) 2
I @)
B T |

48, Tord e =1 ofsraor S o =rft 3FR 39

R () TA AR 99 20°CH 35°CH WR? (R =
8.314 ] mol-! K-1)

(1) 342 kJ mol?
(2) 269 kJ mol-!
(3) 34.7 K] mol-!
(4) 15.1 kJ mol-!

I (3)

fog X2 __Es T1-Tz-|
K, 2303R| T,T,

B

5 293 - 308
og2=—
2.303x8.314 293 %308

_ 0.301x2.303x 8.314 x 293 % 308

E
& 15

= 34.67 k] mol-! = 34.7 k] mol-!
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49. A hydrogen gas electrode is made by dipping
platinum wire in a solution of HCI of pH = 10 and
by passing hydrogen gas around the platinum wire
at one atm pressure. The oxidation potential of

electrode would be
(1) 0.059V

(2) 059V

(3) 0.118 V

4 118V

Answer (2)

' 0.059. 1
501. Ecﬂﬂ = J_ }.Og 19_10

=+059 V

50. A reaction having equal energies of activation for
forward and reverse reactions has

(1) AS=0

(2) AG=0

(3) AH=0

(4) AH=AG =AS=0
Answer (3)
Sol. Fact.

51. At 25°C molar conductance of 0.1 molar aqueous
solution of ammonium hydroxide is 9.54 ohm™ cm?
mol* and at infinite dilution its molar conductarnce
is 238 ohm™ cm? mol™. The degree of ionisation of
ammonium hydroxide at the same concentration
and temperature is

(1) 2.080%
(2) 20.800%
(3) 4.008%

(4) 40.800%

Answer (3)
A 00
Sol. Degree of ionization = FK 1
= M =4.005%
238

49. UF BRSO W9 TaGIE TileAn dRX &l FRSFAIRG
T & 10 pH U H THaR § TSF 90 TF 1 atm
W BRSS9 U 0 IR S SR e
3 % & T B ?

(1) 0.059 V
(2) 059V
(3) 0118V

4 118V

IH (2

' 0.059 1
BH: Egx =+ . log 100

=+059V

50. 3FR YA F 30T PR 3 9fRaw Sl JUeR ¥
o =@ AR & fow 779 & 3 Tar 991 2nm?

(1) AS=0

() AG =0

(3) AH=0

4) AH=AG=A5=0
I (3)
¥ THE

51. 25°C AN W 0.1 HeR M09 SEgERIEE & S
faeme =1 R SIFEAT 954 ohm! em? mol 1 & 4T
IF S W U HIER ARl 238 ohm™ em?
mol 1 ¥ IG YFEET 99T 9T R I ISR
F A F HET

(1) 2.080%
(2) 20.800%
(3) 4.008%

(4) 40.800%

I (3)
B AT F WA = lﬁ %100
m
954x100

=4.008%
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Z:
52. Based on equation E = -2.178 x 1018 ][n_g] certain

conclusions are written. Which of them is not
correct?

(1) The negative sign in equation simply means
that the energy of electron bound to the nucleus
is lower than it would be if the electrons were
at the infinite distance from the nucleus

(2) Larger the value of n, the larger is the orbit
radius

(3) Equation can be used to calculate the change in
energy when the electron changes orbit

(4) For n = 1, the electron has a more negative
energy than it does for n = 6 which means that

the electron is more loosely bound in the
smallest allowed orhbit

Answer (4)
Sol. Fact.

53. A button cell used in watches functions as
following

Zn(s)+Ag,0(s)+H,O()==2Ag(s) *

Zn* (aq) + 20H- (aq)

If half cell potentials are

Zn®* (aq) + 2¢- — Zn(s) ; B = 076 V
Ag,0(s) + HO()) + 2 — 2Ag(s) + 20H" (ag),

E°=034V

The cell potential will be

(1) 110V @) 042V

(3) 0.84V @) 134V
Answer (1)

Sol. E.un =Efiode ~ Fanode
=034 —(—-076)=11V

54. How many grams of concentrated nitric acid
solution should be used to prepare 250 mL of 2.0 M
HNO,? The concentrated acid is 70% HNO,,

(1) 45.0 gconc. HNO, (2) 90.0 g conc. HNO,
(3) 70.0 g conc. HNO, (4) 54.0 g conc. HNO,

Answer (1)
| 250%2
Sol. M xV =Moles of HNO, = 1000 0.5
100

HNO, required = 0.5x63 x e 45 g

9

52. G, E = -2.178 x1o—'15](n—;}qt ART F
ey o &, W 4 Fivar afy T8 27
(1) G ¥ onE fore femmr @ I S goreeE
fFem ¥ Ay 7 I9E ol w9 a3l 3
TR ¥ A R ¥ T @ W
) T 23 A9 BN (larger) BN JaAT F& A
faear geer 2
(3) =@ TS T TART T Foll ol HR ey
d S S FE deedl Bl
@ n=1% T9¢ soggE & IRE HISHF FHAl
B, n=6¥1 TH @ 9941 | fF w9 I
I T A R RaE ¥ 9 wEeE S
FH (4)
W TS

53. Oied ¥ 924 ¥ T 909 ¥ I e 2

:Z-n[*s'l + Az, Ofs)+H,O{)—=2Ag(s) +

Zn** (ag) + 20H (aq)

IR 3T I favg &

Zn?* (aq) + 2¢~ — Zn(s) ; E° = -0.76 V
Ag,0(s) + HLO(I) + 2¢~ — 2Ag(s) + 20H- (aq);

E°=034V

¥ favg 3

(1) 1.10V (2) 042V

(3) 0.84V (4) 134V
I (1)

¥ Baw =Ejg; -Etm
=034 -(-0.76) = 114 V

54. 2.0 M HNO, & 250 mL99H ¥ fRd I07 Aifs
ReF IR FT AT TN TR Al 3T 70%

HNO, #® :

(1) 45.0 g¥ET HNO, (2) 90.0 g¥il#3d HNO,

(3) 70.0 gWEH HNO, (4) 54.0 g¥ildd HNO,
IR (1)

250%2
1000

=05

T M % V=HNO,& A =

FATEF HNO, = U.EXESX%::IEg
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55. The number of carbon atoms per unit cell of

diamond unit cell is

1) 4 (2 8
3 6 @4 1
Answer (2)
Sol. Fact.

56. Maximum deviation from ideal gas is expected from

(1) Hyg) (2 Ny(g)
(3) CHylg) (4) NHs(g)
Answer (4)
Sol. Fact.

57. A metal has a fcc lattice. The edge length of the unit
cell is 404 pm. The density of the metal is 2.72 ¢ cm>,
The molar mass of the metal is

(N, Avogadro's constant = 6.02 x 10 mol-!)
(1) 40 g mol™
(2) 30 g mol™
(3) 27 g mol?
(4) 20 g mol!
Answer (3)

Sol. d=-2XM
V<N,

_ 4xM
(4.04x107°)* x6.02x 107

_ 2.72x(4.04)> x 6.02x 107"
B 4

M

=27 g/mal,

58. Dipole-induced dipole interactions are present in
which of the following pairs?

(1) H,O and alcohol

(2) CL and CCl,

(3) HCl and He atoms

(4) SiF, and He atoms
Answer (3)

55. GHT & WA ChEE RS ¥ FEA GEET A qen
B ?

(1) 4 2) 8
(3} 6 4 1
I {(2)
T JH ST
56, Jed T ¥ Afhan fTaem Fi fead aEer 27
(1) H,{9) 2) N,@9)
(3) CH,@9) (4) NH,{9)
I (@)
| L HEG R REE

57. Q& UK foc WA 21 Gheh RIGH & fFC o
TEE 404 pm Bl U & THA 272 g em> B U
&I AR TP BRI
(N, 3mERmE o = 6.02 x 108 mol?)
(1) 40 g mol™!
2y 30 g:mnl‘l
(3} 27 g mol

(4) 20 g mol-!

I )
T d=M
VXN,
272 = s
(4.04x107°)% x6.02x 10

= 272x(4.04)° x6.02x10”
1w — 4

=27 g/mol.
58. o fr o1 ¥ feya-ORa fxE sRawafohar =Rit?
(1) H,0 3R Tepiaia
(2) Cl,3RCa,
(3) HCl 3R He WA
(4) SiF, 3R He WY
IR (3)

§+ &
'EH: H T CI..-.“....

He
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59. A magnetic moment of 1.73 EM will be shown by
one among the followmng

(1) [Cu(NH;)P*
(3) TiCl,

(2 NH(CN) -
@) [CoCl]*
Answer (1)

Sol. Magnetic moment {J) = 1i}ﬂ{:ﬂ+ 2)
1.73 = Jaln+2)
n=1

So, compound nmst contain one unpaired electron.
The compound is [Cu(NH,) ]2*.

60. Roasting of sulphides gives the gas X as a by-
product. This is a colorless gas with choking smell
of burnt sulphur and causes great damage to
respiratory organs as a result of acid rain. Its
aqueous solution is acidic acts as a reducing agent
and its acid has never been isolated. The gas X is

(1) HS (2) SO,
(3) CO, 4) SO,
Answer (2)
Sol. Fact.

61. Which is the strongest acid in the following?

(1) H,80, @ HCO,
(3) HCIO, @ H,50,
Answer (3)
Sol. Fact.

62. Which of the following is paramagnetic?

(1) CO @ o5
(3) CN~ (4 NO*
Answer (2)

Sol. -OE => It has one unpaired electron.

63. Which of the following structure is similar to

graphite?
(1) BN 2) B
(3) B.C 4) B.H,
Answer (1)
Sol. Fact.

59. FR=T 3 & Tor wefirr & aafT 3T 1.73 BME7

(1) [CaNHy),J* (2) [Ng(CN)J*>
@) TiCl, (4) [CoClJ*+

IN (1)
™ T W () = Jam+2)
173 = Ja@s2)

n=1

I A § wF g TREgid 21 diE
[Cu(NH,),]* 31

60. UFEIEEY F 9o W W X INEE faEar € 9"
WEF, FET T J99T §5 a0R 9 T awRn 39
2 3R I 99 & TR 3999 I FI TR af
eI 81 THET ey faeE SRR B B, SRR
ST T T F O30 SO 30 T o SrenT =
fopar wmm 2] xR

1 HS (2) SO,
3 €0y (4) SO,
I (2)
T T
61. T ¥ ¥ FF4r yawTT 4R 27
(1) H,S0, (2) HCIO,
(3) HCIO, (4) H,SO,
I (3)
f-TOHIGAS UG

62. T A ¥ plEr SggEg 87

(1) CO (@ 03
(3) CN- {4) NO*
I (2)

T O; =3 UF IgRad e e 2
63. A= ¥ ¥ frgdl IwEe & 99F S 27

(1) BN 2 B
3) B,C (4) B,H,

IR (1)

W THE|
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64. The basic striactizral unit of silicates is

(1) Sio- (2) -SiOi'
(3) SioF (4) SiOF
Answer (2)
Sol. Fact.

65. Reaction by which Benzaldehyde cannot be
prepared

(1) @/ + CrO,Cl, in CS, followed by H,O*

' COCl
(2) ©/ + H, in presence of Pd-BaSO,

(3) @ + CO +HClin presence of anhydrous A1Cl;

- COOH
(4) O/ + Zn/Hg and conc. HC1

Answer (4)
Sol. Fact.

66. Which of the following does not give oxygen on
heating?

(1) KCO,
(3) K,Cr,0O:
Answer (4)

(2) Zn(C1O,),
@) (NH,),Cr,0;

Sol. (NH,),Cr; 0, —23N, (1) + C1, O3 +4H,0

67. Which of the following lanthanoid iens is

diamagnetic?
(At nos. Ce =58, Sm = 62, Eu = 63, Yb = 70)
(1) Ce?* (2) Sm*
(3) Eu2* @) Yb?
Answer (4)

Sol. Yb** has an electronic configuration of 4f 4,
68. Identify the correct order of solubility in aqueous

meditm
(1) CuS > ZnS > Na,S
(3) Na,S > CuS > ZnS
Answer (4)
Sol. Fact,

(2) ZnS > Na,S > CuS
(4) Na,S > ZnS > CuS

64. TaReTRe 9 A WHF TFE &

(1) SiO- (2) 'Sioi'
(3) sior (4) sior
I (2)
Wel: T

65. Slfcserse forg afafrar 3 98 o7 9= 37
(1) ©/ +CrO,Cl, & CS, & aer7adq H,0*
' cocl
v @’ + H,, Pd-BaSO, 3 IJufeufy #

(3) @ + CO + HC FAsie AICL =1 S 3

' COOH
4) ©/ + Zn/Hg T ¥ HCL

[ (4

L HEGRE UG

06, R A U FHiET BT FRA W ST w8 3 37
(1) KCIO, (2) Zn(CIOy),
(3 KCrO, @ (NH),Cr,O;

I ()

T (NH,),Cn0, —2 5N, (1) +Cr0, +4H,0
67. T ¥ ¥ T d=FRE 3R diagEeia 27
(U] AE Ce = 58, Sm = 62, Eu = 63, Yb = 70)

(1) Ce** ) Sm*
(3) Eu2* (4) Yb**
I (3)

W: Y2 & TR e 4% 2mr #)
63. I HEAW ¥ fderar &1 98 w9 2

(1) CuS>ZnS> Na,S
(3) Nay5 > CuS > ZnS

Jerk (4)

(2) ZnS > Na,S > CuS
(#4) Na,5 > ZnS > CuS

T S|
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69. XeF, is isostructural with

(1) TeF, @ Ic;
(3) SbCly 4) PaCl,
Answer (2)

Sol. IICLLT {Same number of lp and bp on "I")

70. An excess of AgNQ, is added to 100 mL of a 0.01 M
solution of dichlorotetraagquachromium(III) chloride.
The number of moles of Ag(l precipitated would be

{1} 0.001 (2) 0.002
(3} 0.003 4}y 0.01
Answer (1)

Sol. [Cr(H,0),CL]Cl, one ionizable CI.

71. Which of these is least likely to act as a Lewis base?

(1) €O (2) F-
(3) BE, (4} PE,
Answer (3)

Sol. BE,, it 15 a Lewis acid.
72, KMnO, can be prepared from K,MnO, as per the

reaction:

3MNO; +2H,0+==2MnOj +MnC, +4OH"

The reaction can go to completion by removing OH-
ions by adding

(1) HCl
(2) KOH
3) Co,
4) so,
Answer (3)
Sol. Fact.
73. Which of the following is electron-deficient?
1) (CHy),
) (SiH,),
@) (BH,),
(4) PH,
Answer (3)

Sol. (BH,),, Diborane is electron deficient.

69. XeF, % A ¥ frgs o 99 4T 27

(1) TeF, @ ICl3
(3) SbCl, (@) BaCl,
IR )

T IC; (‘TR Ipd bp F @ T 2)
70. 0.01 AR SEFARIC ICIERAIHEN(II) SRS & 100 mL

famer F AgNO, it IRty W s 1€ 21 AgCl
& yaafd 39 A A= der

(1) 0.001 (2) 0.002
(3) 0.003 () 0.01
IT (1)

T [Cr(H,0),CLICL 38 & g Cl 31

71. A9 ¥ ¥ faET 9 39 959 9R 91 @ FGER
FHE Dl G B 7

(1) CO ) F
(3) BF, (4) PF,
I (3)

W EF, U U <39 o &

72, f FfiET & 39K K,MnO, ¥ KMnO, 99T ST
oAl &

3MnO3™ +2H,0 ——=2MnO] + MnO, + 40H"
T ANET T W FE F Y, OH- IR T
& forg serRf
(1) HC
(2) KOH
(3) CO,
(4 SO,
I (3)
L L MG R S e
73. B ¥ FAET SEdE- 27
(1) (CHy),
(2) (SiH,),

(3) (BH,),
@ PH,

I (3)
WH: (BH,),, SIRA Idg I Bl 31
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74. Stracture of the compound whose JIUPAC name is 3-
Ethyl-2-hydroxy-4-methylhex-3-en-5-ynoic acid is

H
@ ZY “CcooH
i

OH

(2) COOH

g

OH

(3) COOH
B

& COOH
@ :\j\

"\,‘\h

oy

Answer (2)

OH

Sol. COOH

g

75. Which of these is not a monomer for a high
molecular mass silicone polymer?

(1) MeSiCl, (2) Me,5iCl,
(3) MesSiCl (4) PhSiCl,
Answer (3)
Sol. Fact.

76. Which of the following statements about the
mterstitial compounds 1s incorrect?

(1) They retain metallic conductivity
(2) They are chemically reactive
(3) They are much harder than the pure metal

(4) They have higher melting points than the pure
metal

Answer (2)
Sol. Fact,

77. Which one of the following molecules contains no
7 bond?

(1) CO,
3) SO,
Answer (2)

(2 HO
(4) NO,

Sol. Fact.

74, AR 1 9@ f99FT IUPACAM & 3073
2 BETEEIRi-4 HTeaN -3 S5-3I Ufas, e %
¥ i 9 2?

OH
1y 2 “CooH
W
OH
2) [ COoH
X
OH
&y = COOCH
=

OH
™ COOH
=
75 U A YR e flaes TgaF & fav e ¥
A FIHE CFAE (AFRR) TE 27

(1) MeSiCl, (2) Me,SiCl,
{3) Me,SiCl (4) PhSiCl,

I (3)

T F=SF

76. T Tl ¥ A T A difiwl & ol wd
T8 27

(1) =T Ylfeas Irorsdr 90 &1 8
) ¥ AT 1 9 9 B F
(3) Y= U T g ¥ A IE FOR BT B
(&) T TEAIE 2 g ¥ oF e A &
I (2
T S
77. FR1 o[al W ¥ R H namewr A8 27

(1) CO, (2) H,0
(3) 50, (4) NO,

G (2)
. L HIE A UG )
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78. Amntiseptics and disinfectants either kill or prevent
growth of microorganisms. Identify which of the
following statements is not true

(1) A 0.2% solution of phenol is an antiseptic while
1% solution acts as a disinfectant

(2) Chlorine and Iodine are used as strong
disinfectants

(3) Dilute solutions of Boric acid and Hydrogen,
Peroxide are strong antiseptics

(4) Disinfectants harm the living tissues
Answer (3)

Sol. Dilute solutions of boric acid and H,O, are mild
antisephics.

79. Among the following ethers, which one will
produce methyl alcohol on treatment with hot
concentrated HI?

(1) CH,~CH,~CH,~CH,—O0—CH,

2) 'CHS—CHE—(IZH—O—CHS_
CH,

CH,4
I

3) CH;—C— O—CH;,4
I
CHs,

4) cH,-CH-CH,—0-CH,
I
CHs

Answer (3)

CH,
I
Sol. CH;—C— O—CH; +HI—

[
CH,

78. UFeRIE s fagEr eusial 1 A S § 1 39
e & Ihd &
=T 3 ¥ S T s il ® SO TEaiY
(1) AT =7 0.2% FaeaT ofole & SEfs 1% fageq
ferierdy &1
(2) TN g IAES oo HAEEET & 9 e ¥
3 €l

(3) IRF I 9 LA WHFEE F a9 faeuq
9 QicRrel 2T 2

(4) foawml Sifa Fasl o7 TFAH i 2
I (3)
¥ AR I T B0, % 79 e 3 fadelt 2 #
79. e SR ¥ ¥ Fhar W Ae 1A st =@

A weehEd S ?

(1) CH,—CH,—CH,—CH,—0-CH;

(2) CH, —CH, — cfH—O —CH,
CH

3 CH,-C— O-CH,

(4) —CH-CH,-0-CH
3

IR (3)
' CH,
|
¥ CH;—C— O—CH;+HI—>
|

CH,
T I
CH;OH+CH; —C— I CH,OH+ CH, — nlz_ I
Methanol | o |
CH,4 CH,
80. Nylon is an example of 80. %1 ¥ ¥ Argai &gt Iemr 27
(1) Polyester (2) Polysaccharide (1) 9T (2) UileReUsE
(3) Polyamide (4) Polythene (3) HifeIgAEE (4) i
Answer (3) I (3)
Sol. Fact, Bel: TEICHE |
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81. The structure of isobutyl group in an organic
compound is

CH_
1 CH—CH,—
(L i ndl -

[y e e e

(3) CH,—CH,—CH,—CH,—

CH;,
@ cH—Cc—
&,
Answer (1)
Sol. Fact,

82. Nitrobenzene on reaction with conc. HNO,/H,SO,
at 80-100°C forms which one of the following
products?

(1) 1, 2-Dinitrobenzene

(2) 1, 3-Dinitrobenzene

@) 1, 4-Dinitrobenzene

(4) 1, 2, 4-Trinitrobenzene
Answer (2)

" NO, NO,
Sol. I‘:T..MOJH;ED‘
@ — @Noz

83. Some meta-directiﬂg substituents in aromatic

substitution are given. Which one is most

deactivating?
(1) —C=N (2) —SO.H
(3) —COCH 4) —NO,
Answer (4)
Sol. Fact.

84. 6.02 x 10*° molecules of urea are present in 100 mL
of its solution. The concentration of solution is

(1) 0.02M (2) 0.01M
(3) 0.001 M 4) 0.1M
Answer (2)

6.02x10%°

6.02x 103
Sol. M=04U2x107" 549
ol. M 55 M

1000

s1. ol SRl i 3 ARdRgeET W E 9 W2
CH
CH—CH,—
(1) o .

(2) CH,— r]:H.— CH,—CH,

(3) CH,—CH,—CH,—CH,—

CH,

(4) Cf[—]ﬁ—-(li—

I
CH,

S (1)
L L HEG 2 G

82. WEAESIA 80-100°C 9 W U= HNO,/H,SO, ¥
SR Ch =T SRR 7

(1) 1, 2-ErEAIEe e

(2) 1, 3TEEH

(3) 1,4 3FARG IS

(4) 1, 2, 42rETEEIdAA
I (2)

- NO, NO,

HNO,/H,50,

—_— NO,

63, HF HeT-FRIER yfeams Wifew yiemE & fie
fa &, = ¥ =i 9ed it e 27

(1) —C=N (2) —SO,H
(3) —COCH 4 —NG,
I @)
W ST

84. FRAT T 100 mL fqa@ ¥ T8 6.02 x 102 ]
it o, =59 Taems o gigar SR

(1) 0.02M (2) 0.01M
(3) 0.001 M @) 01M
I ()
 6.02x10%
T M= % —0.01M
1000
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85. Which of the following is a polar molecule?
(1) BF; (2) SF,
(3) SiF, (4) XeF,

Answer (2)

Sol. SF, (Due to presence of a lone pair of electron on "S"
it has distorted geometry).

86. Which is the monomer of Neoprene in the
following?

(1) CH,=CH — C=CH

(2) CH,= ?-CH: CH,
CH,

(3) CH,= {?—CH= CH,
Cl

4) CH,=CH — CH=CH,
Answer (3)

Sol. Chloroprene (CH, =C—-CH=CH,)
|
Cl

Br Er

Ais ﬁzcre

(1) HgSOfl,f H,50,

(3) H,PO, and H,O
Answer (3)

" NO,

87. In the reaction

2) CuzCiz
(4) H/H,O

NO,

NO, 2
Sol. m @\
Br
+
N,CI®

88. The radical @—CH; is aromatic because it has

Br

(1) 6 p-orbitals and 6 unpaired electrons
(2) 7 p-orbitals and 6 unpaired electrons
(3) 7 p-orbitals and 7 unpaired electrons
(4) 6 p-orbitals and 7 unpaired electrons
Answer (1)

Sol. 6p orbitals and & unpaired electrons contributes to
aromaticity.

85. T A ¥ =iar g 3 27

(1) BF, (2) SF,
(3) SiF-_l {4} XE‘F4
I (2)

¥ SF, ('S'WR UHE ToagE o9 i Juafd & FROT
T fagd Sifafy aidn 21)
g6. 1 A I FadiF &1 Tahel lemm 87
(1) CH,=CH — CH=CH,
@) 'CI-IZ=fT*—1L:H=cr-I2
CH,

3) CH, =f:_I,_az:1F1=1r:;H-2
cl

4 CH,=CH — C=CH
N 3

Y& FARGA (CH, =(f—CH=CHE)

Cl
" NO, NO,
87. 29 A A @\
Br Br
&
N,C®
AT
(1) HgSO,/H,SO, (2) Cu,Cl,
(3) H,PO, T H,0 4) H*/H,0
IR (3)
| NO, NO,
i ' @)
== H,PO./H; @\
Br Br
+
N,CI®

88. W-Q—CH; Wiiew & i =99 2

(1) 6 p-3ifsea T4 6 3gfive REA

(2) 7 p-3iacd AT 6 IRANT T

(3) 7 p-3iifdea T 7 SN Torae

4) 6 p-3iifdea T 7 safine SoacA
I (1)

¥ YRREFHA ¥ op FUF U9 6 WS TolaeH o AR
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89. The order of stability of the tollowing tautomeric
compounds is

OH O

l |
CH, =C—CH, — C— CH, —

I
O O
I I
CH; —C-CH, —-C-CH;—
II
CH O
| I
CH; —C=CH-C—-CH,;
11
(1) I>MI>1I (2) M>1>1
(3) I>1>1I (4) O>0>1
Answer (2)
Sol. Fact.

90. Which of the following compounds will not
undergo Friedal-Craft's reaction easily?

(2) Xylene
(4) Toluene

(1) Cumene

(3) Nitrobenzene
Answer (3)
Sol. Nitrobenzene (—NO, is deactivating group)
91. Select the wrong statement:

(1) Isogametes are similar in structure, tunction and
behaviour

(2) Anisogametes differ either in structure, function

or behaviour

(3) In Comycetes female gemete is smaller and
motile, while male gamete is larger and non-
motile

(4) Chlamydomomas Exhibits both isogamy and
anisogamy and Ficits shows oogamy

Answer (3)
Sol. .. Oomycetes

. . P
. J;S‘ SmﬁilSize
arge Size

¥

Non-motile

Motile

59. = TemEgdr Ol & wnfdes =1 B eRT

OH I‘|D
I ]
CH,=C-CH, - C-CH;—
I
@ O
| |
CH; - C—CH, - C-CHy;=—=
II
OH O
| I
CH,—-C=CH-C—-CH,
I
(1) I>O>1I (2) MI>T>1
(3) O>1I>1I (4) M>M>1
I (2)
B ST

00, 7 AIffierT ¥ ¥ FHaT FieaT-HIRHA ARAAT MM
¥ & e

(1) FFH (2) S
(3) TEEE=I (4) A
3 (3)

T AR (—NO, W FAafFasl ¥ )
91. TET FIT F AT :
(1) GEHEF G, FA IR FEER § HH B @

@) fawgHE @, T8 W FEER R ¥ O P
B ¥

(3) FAERIET ¥ WA gEE NEEE BT AR 9
BT 8 SNl R JE 99 AR 3T B @

@) FelHeErAT avgWE AR auageE 2E0 0 2
8 3R FgFT AP FY T 2

Jge} (3)

W SRR
o/\o"'
P il
el a9
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92. Which one of the following is not a correct
statement?

(1) Herbarium houses dried, pressed and
preserved plant specimens

(2) Botanical gardens have collection of living
plants for reference.

(3) A museum has collection of photographs of

plants and animals.

(4) Key is a taxonomic aid for identification of

specimens.
Answer (3)
Sol. A museum has collection of dead remains of plants
and animals i preserved form.
93. Isogamous condition with non-flagellated gametes is
tound in
(1) Chiamydomonas (2) Spirogyra
(3) Voloox (4) Fucus
Answer (2)
Sﬂl. i . u e
Organism |Reproduction ametes
Spirogyra Isogamous Non-mwtile -
Volvox Cogamous o Motile
¢ -Non-motile
Fucus Cogamous " -Motile
U -Non-motile
Chlamydomonas| All three Matile /Non-motile

94. Besides paddy fields, cyanobacteria are also found
inside vegetative part of

(1) Pinis (2) Cycas
(3) Eguisetim (4) Psilotum

Answer (2)

Sol. BGA — Anabacena cycadae — Coralloid roots of Cyeas

rFungi — Boletus (B) — Roots of Pinus
— Myvcorrhizal roots

95, Megasporangium is equivalent to

(1) Embryo sac (2} Fruit
(3) Nucellus (4) Owule
Answer (4)
Sol. Megasporangium
Ovule — MMC — Megaspore

92. FfaRad ¥ ¥ -1 F99 99 8 27

(1) Ruer ¥ geiisd, Y B R wRESE e e
ECS

@) TIFfdE IAF, 9= & g Sifag e &
i #

(3) GUETA, WEUT R SIRi & 9RO GURW #

@) FA T F I F Qo TR 9EE
S

IR (3)

TH: GUERE ¥ URW oW SRSl O g AGE 6 98
TR Fgen 4 SEr 2

93, GHYHE AN P A R FHF e T W # 7

(1) FARTT (2) TR
(3) FcTFT (4) FIFT
IW (2)
o G A THE
e ELEE G Fad
v s | -
gicigierd T O - 3
VRN o - =
Sl Q - A
FrrsEEre | @ 9 oI/ A

94. - 2R YA (AEAEfERaT) oF & W[ & e
e & 9 & 3= 1 aw E7

(1) 979 (2) EFF
) ZFGIEH (4) TTEAH
IR ()

¥H: BGA — WeiT GIEohs — IEFT 3 YT 5
FIF — Ted (B) — T o
95, IEHNEIA fFas g €7

(1) Yo7 F9 & (2) el &
(3) WU T F (4) diees &
IW (1)

¥ TS
60T — MMC — TR
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96. Read the following statements (A-E) and answer the
question which follows them

(A) In liverworts, mosses, and ferns gametophytes
are free-living

(B) Gymnosperms and ferns

heterosporous

some are

(C) Sexual reprocuction in Fucus, Volvox and Albugo

1S cogamous

(D) The sporophyte in liverworts is more elaborate
than that in maosses

(E) Both, Pinus and Marchantia are dioecious

How many of the above statements are correct 7

(1) One (2) Two
(3) Three (4) Four
Answer (3)

Sol. In statement D', the sporophyte of moss is more
elaborate than liverworts.

Statement 'E' — Pinus is monoecious plant.

97. Among bitter gourd, mustard, brinjal, pumpkin,
china rose, lupin, cucumber, sunnhemp, gram,
guava, bean, chilli, plum, petunia, tomato, rose,
withania, potato, onion, aloe and tulip how many
plants have hypogynous flower?

(1) Six (2) Ten
(3) Fifteen (4) Eighteen
Answer (3)

Sol. Hypogynous flower - mustard, brinjal, china rose,
lupin, sunhemp, gram, bean, chilli, petunia, tomato,
withania, potato, onion, aloe and tulip.

98. Interfascicular cambium develops from the cells of
(1) Medullary rays
(3) Endodermis
Answer (1)

(2) Xylem parenchyma
(4) Pericycle

Sol. Interfascicular cambium develops from the cells of
medullary rays.

99, In China rose the flowers ave

(1) Actinomorphic, hypogynous with twisted
aestivation

(2) Actinomorphic, epigynous with valvate
aestivation

(3) Zygomorphic, hypogynous with imbricate
aestivation

(4) Zygomorphic, epigynous with twisted

aestivation

Answer (1)

96, FifeiRaa F9Fi (A-E) T 1ieV 3R 395 9% o0 99
& IR G

A) o (a9 F/@) A 3R & F geEEhE
WA Sl 2 2

B) FAGHENT R T AT B F

(C) H&Fd, JeaEd 3 wegm # flt geee
TS B ©

(D) Fraad (agd ) @ FeEee d@h & Sy
IR ¥ I faga 2an 2

(B) A9 3R ARAAT 26 Tehieimsit B &

I § ¥ fhaq a9 27

(1) T (2) 2
(3) 99 (4) IR
Tl (3)

¥ FF D'H WA H SRERE faad & eoERe
¥ e fage 9 2

FYT E — T IR uiRy 2

97. o, W, FH, FIg, I A (FEA), A,
¥ & Il & srdsmnd qur 7

(1) = (2 9
(3) T (4) IBRE
TN (3)

B SRl yoT - wRE, S, e, i, 998, 9 I,
T e |
98, AR Ten Feraeht RISl ¥ foarfae 2mr 27

(1) ¥vanm fEFoo 9 (2) S AgaF A
(3) W F () TR X
I Q)

¥ STUYE T oo fEON & FifdEel ¥ e
Eic i d

99, A I (A I@E) ¥ g7 4 B 27
(1) Fror waive, sl I FEd (TE)
e AR
2) B waitg, sEieRke T SR e R
(3) THA TE, FUNERT T FRSE Eed
fa=r

(4) VN qAAd, SERORE 91 AEd ued
B it

Il (1)
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100. Lenticels are involved in 100, I 997 & &7

(1) Transpiration (2) Gaseous exchange (1) L = e 2 i
(3) Food transport (4) Photosynthesis (3) W SPFFHE (4) 7
Answer (2) I| )

Sol. Lenticels are lense like opening in periderm . T IR ﬁ-ﬁﬂ;ﬂgﬂ forr ¥ 37 s &
developed during secondary growth. e N PR O ¥ i‘?

101, T o1 9t I 1 3o foRae BT PR ST e

101. Age of a tree can be estimated by

(1) Its height and girth 37

(2) Biomass 1) 9 S SR WA

(3) Number of annual rings ) Sigaary 3

(4) Diameter of its heartwood @) T Eﬁ‘lﬁl’ e e
Answe) (@) T FEAS F TE

Sol. Number of annual rings = Number of Years
O (3)

¥ 9t g/ 1 9@ = 997 & gE

102. Seed coat is not thin, membranous in

(1) Maize (2} Cocomut _ )
102. forad e, v sty a8 dar?
(3) Groundnut (4) Gram
(1) FeFRT (2) i
Answer (2) -
3) WISl 4) =41
Sol. Coconut-Thick 3 % 4
Groundnut, gram, Maize-thin, membranous @)
103. Transition state structure of the substrate formed e _ - T
during an enzymatic reaction is W, T, WeF=RT - U=, e
(1) Transient but stable 103, TF Uorgdl s & 3R o 9ert a0 uiEd
(2) Permanent but unstable e T 7
(3) Transient and unstable (1) &PER 9 R
(4) Permanent and stable (2) TR Wy AR
Answer (3) (3) &R I R
Sol. Transition state structure of the substrate formed (4) T 3k fer
during an enzymatic reaction is transient and
unsta]:?]e. EE)

we Gl affEar & 3R R 9 aRad e
(1) Only a saturated fatty acid esterified to a G N Sl S T IR Bl 2

glycerol molecule to which a phosphate group | 104, FPRIAaEE 99 a4 2 &

104. A phosphoglyceride is always made up of

ialsa meaded (1) Terader 3 ¥ vy v sy g I R
(2) Only an unsaturated fatty acid esterified to a FRET wE 0 g war 2

glycerol molecule to which a phosphate group " )

is also attached (2) Frordier 3] ¥ TeedH OF MY T I
(3) A saturated or unsaturated fatty acid esterified fored wirehe e W a2

to a glycerol molecule to which a phosphate (3) faada | | Wﬂﬂf[ VG ‘qqq bl | WTE{ |

group is also attached A oY wRGe TR W 94T & @
(4) A saturated or unsaturated fatty acid esterified R S . -

to a phosphate group which is also attached to @) s AR < Ay ) A Al sl

a glycerol molecule IR o T Raeia 3] & 9afoe a1 @

Answer (3) I (3)
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105. Pigment-containing membranous extensions in
some cyanobacteria are

(1) Heterocysts
(2) Basal bodies
(3) Pneumatophores
(4) Chromatophores
Answer (4)
106. A major site for synthesis of lipids is
(1) RER (2) SER
(3) Symplast (4) Nucleoplasm
Answer (2)
Sol. SER is the site for synthesis of lipids.

107. The complex formed by a pair of synapsed
homologous chromosomes is called
(1) Equatorial plate (2) Kinetochore
(3) Bivalent

Answer (3)

(4) Axoneme

Sol. Bivalent is paired homologous chromosome in
zygotene stage,

108. The three boxes in this diagram represent the thyee
major biosynthetic pathways in aerobic respiration,
Arrows represent net reactants or products

1 5 9 10

glucose wPathway Ap# 2<#|Pathway B ing Pathway Che11

4 SF }2

3
Arrows numbered 4, §, and 12 can all be
(1) NADH (2) ATP
3) H,O (4) FAD* or FADH,
Answer (2)

Sol. ATP is generated at substrate level in glycolysis (A)
and Kreb's cycle (B) but through oxidative
phosphorylation in ETS (C).

109. The most abundant intracellular cation is

(1) Na* (23 -Ca™
() H @ K
Answer (4)

Sol. K* is most abundant intracellular cation.

105, GRANFEIRT ¥ D SRR TR a7 quiE o &7
(1) T
(2) 3R FH
(3) YA
(4) =T T
gl (3
106. FaT (Af2) & ECI9or T oI &1 87
(1) AREIR. (2) TEIIR
(3) GerEE (4) FEFEA
I (2)
¥H: SER fafis S3eiawr o1 2 2

107. R T9 IO & T B R T AR
T AT FET S 27

(1) TAaT 928 (2) FTEAERR
(3) Gl (4) SMERE
T (3)

B TN IIRH ST § GG SN 0T )

108. 3RE # & W 99 Ty 97 J= ST IR RS
FT T FE T T (Arrows) TFA FWFERE

T IAE =Y fERT w9 §
1 5 910
T A "’ﬁL-L" THE
A 24| wHElEB s C i1
_| Y
4 8 12
3

4, 8 3R 12 ¥ QTR 07, W T = IFd 27

(1) THoToRoUo (NADH)

(2) TodioHlo (ATP)

(3) H,0

(4) THoTodlo*a YHoToToTH, (FAD™ AT FADH,)
I (2)

W ATP IASFRRREE (A) 991 T (B) H RRIUR &R
W INA BT # dAfFT ETS (O)F ATdiem

BRERAFNT & 2R IS T 7
109. WY TR FRFINE SFE T a1 &7
(1) Na* @) i
(3 H* 4) K
IR (9
¥ K9 TR AE W OUE WF 9 S gAee
£
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110. During seed germination its stored food is

mobilized by

(1) Ethylene

(2) Cytokinin

(3) ABA

(4) Gibberellin
Answer (4)

Sol. Gibberellin induces aleurone cells to secrete enzyme
to break stored food in seed.

111. Which of the following criteria does not pertain to

facilitated transport ?
(1) Requirement of special membrane proteins
(2) High selectivity

(3) Transport saturation

(4) Uphill transport
Answer (1)

Sol. Downhill movement

Net transport of molecules is from high cone. to low
CONC,

112, The first stable product of fixation of atmospheric

nitrogen in leguminous plants is
(1) -NOE (2)  Ammoia

(3) .ND; (4) Glutamate

Answer (2)

N, —> N;H, — N,H,—> 2NH,
Dimide

Sol.

Nitrogen Hydrazine Ammonia

113. Which of the metabolites is common to respiration

mediated breakdown ot fats, carbohydrates and
proteins?

(1) Glucose-6-phosphate
(2) Fructose 1,6-bisphosphate
(3) Pyruvic acid
(4) Acetyl CoA
Answer (4)

Sol. Acetyl CoA (2C compound) is common to respiration

mediated breakdown of fats, carbohydrates and
protems.

110. 919 AFOT & O ZAFT Gdiad WS Fad W
ufdsie Hm™T SR 27

(1) Rl

(2) WESHFA

(3) ABA (TdIT)

(4) AEEI
IR @)

v efod @i ¥ 9 Aew @ e a@ & fag
T ST A Bq Wi IRt A AR FE
21

111, FffEg §F ¥ =9 a1 I9eve 99t It 9
GFg] e T 27

() fafire & W Fit SETEEa
) I A
(3) INAMT T
@) A IFERE
I (1)
W SR AR

IR FT FRAfE TRIE I gFEdT 9 R g
¥ B 2

112, Reler YEd ¥ aUdr AEgem & Rydeor 1 gEen
R I & o E7

1) NO; (2) SR
(3) NO; (4) TR
IR (2)

N,—>NH, —> NH— 2NH,

ARG EUAIEE wIESAiA IEhEr

113, H99 Hiftad 99, FeEEse IR N & 999 #
T 9T I SRR BT B 7

(1) TEPI-6-TFEHE
() FEeIT-1,6 ATHERT
(3) WEEEF I
(4) TR CoA
I @)

T Whied CoA (2CHife) FURH, FEEREsed a9 REHi
& yauq Wi faued @ e wafss 21

1}
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114, Which one of the following statements is correct?
(1) Hard outer layer of pollen is called intine
(2) Sporogenous tissue is haploid
(3) Endothecium produces the microspores
(4) Tapetum nourishes the developing pollen
Answer (4)

Sol. Tapetum is innermost nutritive structure of anther
wall.

115. Product of sexual reproduction generally generates
(1) Longer viability of seeds
(2} Prolonged dormancy
(3) New genetic combination leading to variation
(4) Large biomass

Answer (3)

Sol. Sexual reproduction generally generates new
genetic combination leading to variation.

116, Meiosis takes place in

(1) Meiocyte (2) Conidia
(3} Gemmule (4) Megaspore
Answer (1)

Sol. The cells in which meiosis takes place are called

meiocyte,
117. Advantage of cleistogamy is
(1) Higher genetic variability
(2) More vigorous offspring
(3) No dependence on pollinators
(4) Vivipary
Answer (3)

Sol. Cleistogamous/ closed tlowers ensure cent percent
seed setting even in the absence of pollinators.

118. Monoecious plant of Chara shows occurrence of

(1) Antheridiophore and archegoniophore on the
sante plant

(2) Stamen and carpel on the same plant

(3) Upper antheridium and lower oogonium on the
sante plant

(4) Upper oogonium and lower antheridium on the
same plant

Answer (1)

Sol. Chara is monoecious green algae.

114, Fr=faRea 3 & 9 @ F2F & 27
(1) TR F FEY FOR IR FTAE (FRIH)
Fade @

(2) WS I ITE IO Bl B

(3) IR AEEAN] I FT B

(4) 24 TR 2 @ YW & QN9 KT 8
IR (4)
T 0eq W M #1999 98 T 9@ #)
115. 9FFIT: s SFF &1 39T & 949 27

(1) ST 3 < Siaq &e

() TafET wus

(3) " IEREE 99rT S fafvrar &Y IR SRR
B €

() fame g gy

IR (3)

T AR SR AW Y At AR SIS Rl
2 Rordr fafv=ar 35 3/ 2)

116, YA -9 el B &7
(1) s o () RiERar (S fs)
(3) HeE (4) TR

I ()

wa: ¥ DfEd e bl R S 2 ande-
FIFT FEA 2
117. G-I YT T T A1 27
(1) IO InaEa fafaesr
2) ARF 99 991
(3) TRAIT &FRF R FAsRar <8
EVIEICRED |
I (3)
W IS WA /9 T WA RS & g
¥ off 99 wRue 99 2E gRE o)q 2
118. 3WAfRATEET 9T & fFad B9 &1 =2ofiar 27
(1) FFT R 3R TARET SR OF & 9 W
(2) TP 3R e T & P W

(3) T T AN PO IR AR & AR VS UF
& 9 |

(@) TW FT IR weur 3R = 9 AR JuE v
& 9 W

I @)
¥ FR sl =R sEe 2
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119. Perisperm differs from endosperm in
(1) Being a haploid tissue

2) Having no reserve food

3) Being a diploid tissue

(4) Its formation by fusion of secondary nucleus
with several sperms

Answer (3)

sol. Preisperm Endosperm
Remuains of nucellus | Triple fusion
Reserve food Reserve food
n 3n

120. Which of the following statements is not true of two
genes that show 50% recombination frequency ?

(1) The geties may be on different chromosomes
2) The genes are tightly linked
3) The genes show independent assortment

(4) If the genes are present on the same
chromosome, they undergo more than one

C10S50Vers in every meiosis

Answer (2)

Sol. The tightly linked genes show 100% parental types
and 0% recombinants.

121. Variation in gene frequencies within populations
can occur by chance rather than by natural
selection. This is referred to as
(1) Genetic flow (2) Genstic drift
(3) Random mating (4) Genetic load

Answer (2)

Sol. Variation in gene frequencies within populations
can occur by chance is called as genetic drift,

122. It two persons with 'AB' blood group marry and
have sufficiently large number of children, these
children could be classified as 'A' blood group : 'AB'
blood group : 'B' blood group in 1: 2 : 1 ratio.
Modern technique of protein electrophoresis reveals
presence of both 'A' and 'B' type proteins in 'APB'
blood group individuals. This i1s an example of

(1) Codominance (2) Incomplete dominance

(3) Partial dominance (4) Complete dominance

Answer (1)

Sol. Phenotype  AB

!

Genotype I'r

l

Antigen A+Antigen B

Co-dominance

119. 9o, o ¥ F§ R 287
(1) SHFT A S BT
() T9 IR HE F B
(3) TH f2forT Io B
(4)‘33}@?@3&"%“%@%%@%

I ZHF T
I ()
¥ | Ry YOI
ATOESFY & ARy | BemH
IR W diad Wi
n 3n
120, ¥ S S 50% JANTS TG # I g
ﬁﬂmmi’r%aﬁq%ﬂﬂﬁ?

(1) SiF =T TORET ) Il 2
(2) S HRE ¥ g 2
(3) W W e i d

() af7 9 v & PRE R FE € 9 3 9dE
aﬁ?ﬁw#w% It ax RfFgfE
2

IX Q)

B9 AT WEeRE W 100% UgF FHR a7 0%
TR =9id #]

121. OF WHte & =W o
B ? A9 UipiaS
Hafiie faar am 27

(1) FEF B
(3) AEREE W
I (2)

T WS F A ngfy F RS dEe B8R @ 9%
2 o IEEE YaE Fey B

122, A% 'AB'ET 9YF A 2 Afered faaned aid € AR AP
Yo fawe 9@ A 91 B §, T a0 o O aeiad
TR ST Wehell @ ' A'TERT NS ;AR W8 ¢ BT
ag%jl 2:1% P9 |ﬁia=ré'-g?r$rm§;r
( aﬁaﬁr@m %I MY T 9 T
TR AR 'Ewa}ﬁ@qﬂﬁriﬁ ‘AR T T8
e ¥ faeps 21 7% e Jaer 27

FgfeEl ¥ frer w8 9§
T & 2N 39 e fow

() SFEEE faaee
(4) IEEF ¥R

(1) | g (2) QT genferam
(3) T T (4) 07 TefEa
I (1)

wE:  TRUIEY Af
IE Ii[“
s A+ 9SH B
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123. The process by which organisms with different
evolutionary history evolve similar phenotypic
adaptations in response to a
environmental challenge, is called

(1) Natural selection

common

(2) Convergent evolution

(3) Non-random evolution

(4) Adaptive radiation
Answer (2)

Sol. Convergent evolution occurs in unrelated group of
organisms. It is the development of similar

functional structures but in unrelated groups.

124. The tendency of population to remain in genetic

equilibrium may be disturbed by

(1) Random mating

(2) Lack of migration

(3) Lack of mutations

(4) Lack of random mating
Answer (4)

Sol. According to Hardy-Weinberg principle, allele
frequencies in a population are stable and is
constant from generation to generation.

125. Which of the following Bt crops is being grown in

India by the farmers?

(1) Maize (2) Cotton

(3) Brinjal (4) Soybean
Answer (2)

Sol. Bt cotton is being grown in India by the farmers.
126. A good producer of citric acid is

(1) Aspergilius (2) Pseudomenas
(3) Clostridium

Answer (1)

(4) Saccharontyces

127. DNA fragments generated by the restriction
endonucleases inn a chemical reaction can be
separated by

(1) Centrifugation

(2) Polymerase chain reaction

(3) Electrophoresis

(4) Restriction mapping
Answer (3)

Sol. DNA fragments generated by
endonucleases in a chemical reaction can be
separated by gel electrophoresis.

restriction

123, 9% Yirar, o 3R BT faae Sfoem ard Sig o
W T A & 9§ W ST
AFEe e = 2, Fa1 o0 ®
(1) FEfdF a0
(2) A e
(3) ERRoE fEm
(4) IFHA TR

gt (2)

& AN e WEl F EeRK WE ¥ e 81 23
U FH F F a9 AR 2 € afde
q e 93 § 2 B

124, O YA 4 AERF g9 ¥ @ H 99 e
BRI W[ 2T Il 87
(1) g W aR
2) T & A9F B
(3) IARTTA F 3T I
(@) UERSF G HNE &R

IR (4)

¥ 719 R e 3 AR e W gmfaeedt F sgf
fear 2601 7 3R 92 9 9 g 6 = R

125, Frefefad Bewaall § 9 S99 SO wRT ¥ fhamn
2 IME A& B

(1) AFH (2) FIE
(3) @) S
Tl (2)

T 9T # fFUFT & TR Bt FYM I IWAT ST 2|
126. TS % o 33T IARF FH a1 2
(1) TegRforea () GEHg
(3) FADTT (&) IPIarEIST
gt {1)
127. OF UEAME AEthar ¥ iawA gvargfees BR
ST SIgAT wE &7 e g S BT o e
27
(1) ST
(2) WiferReT e ififRar
(3) ¥ WARH (FAFSIERR)
() fE=E 49
I (3)
¥ WEAF aRkEn § Saed weRaede & a9 AR
DNA @€ SiF 4gd &1 99 4 Jus & o
qFA B
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128. Which of the following is not correctly matched for
the organism and its cell wall degrading enzyme?

(1) Bacteria - Lysozyme
(2) Plant cells - Cellulase
(3) Algae - Methylase

(4) Fungi - Chitinase

Answer (3)
Sol. In algae, cell wall is made up of cellulose degrades
by cellulase,
129. The colonies of recombinant bacteria appear white
in contrast to blue colonies of non-recombinant
bacteria because of
(1) Non-recombinant bacteria containing beta-
galactosidase

(2) Insertional inactivation of alpha-galactosidase
in non-recombinant bacteria

(3) Insertional inactivation of alpha-galactosidase
in recombinant bacteria

(4) Inactivation of glycosidase enzyme in
recombinant bacteria

Answer (3)

Sol. The colonies of recombinant bacteria appear white
in contrast to blue colonies of non-recombinant
bacteria because of insertional inactivation ot
alpha-galactosidase in recombinant bacteria,

130. Which of the following are likely to be present in
deep sea water?
(1) Archaebacteria (2} Eubacteria
(3) Blue-green algae (4) Saprophytic fungi
Answer (1)

Sol. Archaebacteria tlourish in hot springs and deep sea
hydrothermal vents.

131. Natural reservoir of phosphorus is
(1) Sea water
(2) Animal bones
(3} Rock
(4) Fossils
Answer (3)
Sol. Phosphorous — Sedimentary cycle

Reservoir — Rocks

128, W 3R I e W BT g & /e
fefeRaT ¥ & 9 o8 g Tl 27

(1) A - SRS
(2) WY AFI -Hegersl
3) 9 - R
4) TwaE - P
IR (3)
o AR ¥ S PR Jgae #r @ aE E S I
¥ fqafeq 2 &)

129, AR SHaNRN 9 ARt Fag & faudd AR
SharpEit 9 Fae S frard 30 € w9

(1) GRS SHRH ¥ heT-drerrdargss T 2

(2) HYTEETST AN # UERI-TodeMIEed ol
e fAfewaor 2r #

(3) AN RN 3 veH -TeEedEss & e
@) AR AR § EERaEes UREH &1
fafeFmor Bt 2
I (3)

T AN oA ¥ dler-AdeRaEse B9 % Rl

AN Y] F el g 9 genr #§ ane
AN # FEg w9 1@ B 2

130, FafafeT ¥ ¥ el W= 37 99 F W S A

GHIEAT & 7

(1) FreFAR (2) gediRar

(3) FeT-ERT Harer (4) YA FAF
3R (1)

¥ IEGFr W -Siedrl 9 e 99E S 3@
¥ w=h g &= F

131. GEHRT & URFfd ISR & a1 37
(1) W S
(2) i aifegar
(3) o
(4) TS

I (3)

¥ BICHRE - JEAE 9%
SR - ATH
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132, Secondary productivity is rate of formation of new
organic matter by

(1) Producer

132. fedue ISl s 20 <0 SrfAs 92 = 9
#wRB?

(1) JEH
(2) Parasite (2) TN
(3) Consumer 3) ST
{4) Decomposer @) ATIRE
fnmpns ) IR @)

Sol. Secondary productivity is rate of formation of new
organic matter by consumer.

133. Which one of the following is not used for ex situ
plant conservation?

(1) Field gene banks

¥ fodimes Scaeaar SR 3N 1 FEiHe T &
fAior =Y =t 2

133, Ffifad 3 & #I9 W vRy-dig W9 WY ¥ g
LG

(1) 8 S

(2) Seed banks
. (2) & dF
(3) Shifting cultivation
. (3) TAERIT I

(4) Botanical Gardens

(4) IFHTHF IJAH

Answer (3)
S (3)

Sol. Shifting cultivation results into deforestation.

134. Kyoto Protocol was endorsed at

T NFERRT A5 & RS ST 2 T R
134, ST dooiE (WIS ) &7 e el gon A7

(1) CoP-3 (2) CoP-5 (1) CoP-3 Q) CoPs
(3) CoP-6 (4) CoP-4 (3) CoP-6 (4) CoP-4
Answer (1) T ()
135. Which of the following represent niaximunm number | 13c Afygs I fAfREr 3 o sfgd £ afEaw
of species among global biodiversity? T &7
(1) Algae (2) Lichens (1) et o) m ( '-‘BEF)
(3) Fungi (4) Mosses and Ferns (3) FaF (1) T vE -
Answer (3) T )

136. Match the name of the animal (Colunm I) with one
characteristics {Column II) and the phylum/class
(cohimmn IT) to which it belongs.

136. WfER-1% 0T ¢ A & wfew-0F & T IT9
fafireawEil IR Wi BT W 398 wEe/ 9N
¥ T -48 feE FiNe:

el [ohmeT ket | [ oo iy [
(2) | Ichtinpophis | Tervestrial Reptilia 1) | 9o | STl | AR
(3) | Limulus Bady Pisces 2) | s | el Yo
covered by O | Frerwr | WRw | R
chitinous
exoskeleton E ]
(4) | Adamsia Radially Porifera AET DRl
symmetrical &) | cofaar 3T T | IRET
Answer (1) IR (1)
Sol. Petromyzon (Lamprey) is ectoparasite on fishes | &€k E@“lﬁﬁﬁ (@I’@') Fofodl W A Wl B # Sl
belongs to cyclostomata. ATAAE R § GdftE 21
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137. Which of the following are correctly matched with
respect to their taxonomic classification?

(1) Flying fish, cuttiefish, silvertish, - Pisces
(2) Centipede, millipede, spider, scorpion -~ Insecta
(3) House fly, buttertly, tsetsefly, silverfish — Insecta

(4) Spiny anteater, sea urchin, sea cucumber -

Echinodermata
Answer (3)

Sol. Housefly, butterfly, tsetse fly, silverfish belong to
class insecta of phylum arthropoda.

135. Which group of animals belong to the same
phylum?

(1) Malarial parasite, Amoebs, Mosquito

(2) Earthworm, Pinworm, Tapeworm

(3) Prawmn, Scorpion, Loctista

(4) Sponge, Sea anemone, Starfish
Answer (3)

Sol. Prawn, Scerpion, Locusta belong to phylum
arthropoda.

139, One of the representatives of Phylum Arthropoda iz
(1) Cuttlefish
(2) Silverfish
(3) Pufferfish
(4) Flying fish
Answer (2)
Sol. Silverfish belongs to phylum arthropoda.
140. The H-zone in the skeletal muscle fibre is due to

(1) The absence of myofibrils in the central portion
ot A-band

(2) The central gap between myosin filaments in
the A-band

(3) The central gap between actin filaments

extending through myosin filaments in the
A-band

(4) Extension of myosin filaments in the central

portion of the A-band
Answer (3)

Sol. H-zone in skeletal muscle is the central gap between
actin filaments extending through myosin filaments
in the A band.

137, fAfaad Sigeti % ¥ Tha WE o7 i 98y &7
(1) I7 WS, ey, e 5 - s
) ¥R, feidie, W), fess-Tie (339a)

@) NG A=F@, fomed, dchiiws, e fra-die
(zrerer)

@ Y DEER (oA Oeder), wE A, agd
FehvaR - IR

IJW (3

B wadl, faae, 9-4 Ao, Refhe e 99 @
el o ¥ dafg €|

138, FfaRed Sig-a4al # ¥ -9 OF & HE &
et 3 8 7

(1) Wefear a0, 3rflar, W
(2) Fgem, e, e (2uwt)
(3) W, g, Jwer ([559)
(4) =9, 9 WM, RREGT
FJN )
. @i, fasg 9 e sl |99 @ daRke 2

30, FElilET 3 & -1 Sig SO TN & i
AT 27

(1) =FHealha
2) o=l
(3) THIHT
(@) I FSl
T (2)
T e srdider 99 ¥ d9aite 21
140, el Y-@F ¥ H-89 &7 FRY B4 &
(1) A-9TH & T4 9N § AAMEESR & 3THE

2) A- IS ¥ WA dg & 9 W F=A
ST

(3) A-U F AARA T ¥ ¥ A G W WA
AR & AT FT e EF

@) A-TTH & TSl 9T AAEA I3 T R
I (3)
H: helel YR ¥ H & Yo dqai o 9 & 7T A
g1 S ATCE ¥ ARifes 9gai @ faeRa dar 21
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141. What external changes are visible after the last
moult of a cockroach nymph?

(1) Mandibles become harder
(2) Anal cerci develop
(3) Both fore wings and hind wings develop
(4) Labium develops
Answer (3)

Sol. In cockroach, development is paurometabolous. The
nymph grows by moulting about 13 times to reach
the adult form. The next to last nymphal stage has
wing pads but only adult cockroaches have wings.

142, The Golgi complex plays a major role

(1) In trapping the light and transforming it into
chemical energy

(2) In digesting proteins and carbohydrates
(3) As energy transferring organelles

4) In post translational moditication of proteins
and glycosidation of lipids

Answer (4)
Sol. Protein + Carbohydrate —— Glycosylation

Lipid + Carbohydrate -_} Glycosidation

143. Which one of the following organelle in the Hgure
correctly matches with its function ?

(1) Rough endoplasmic reticulum, formation of
glycoproteins

(2) Golgi apparatus, protein synthesis

(3) Golgi apparatus, formation of glycolipids

(4) Rcm.gh endoplasmic reticulum, protein synthesis
Answer (4)

ER
A |
RIER e

Sol. Ribosomes Ribosome -absent

. 4

Protein synthesis Lipid synthesise

141. faemee @ F & 3ifqw Foiee & T @9 9
TR IRaS BEE & T 87
(1) #f<aT IF FOR B AN &
) ER (e w6iE) 37 99
(3) 3 49 I 999 ¥E A9 99 I 2l
(4) iaT I S EI

e} (3)

¥ TG ¥ IR IRACHERE YR & B 21 e
H gfg T 139K SFEgeH 8 ¥ 2 B, TR
%R 9@ 4991 €)1 I AR e i 3l
IR ¥ vE Tikedt BR # AfeT I wiee o
9F B F

142. oAl GRPT TG AT FHeT a2
(1) Y19 & RN ¥ 99 I WEfAE SE § 999

o HI
(2) 9N 3R FEEE & T A
(3) Tl & WAFIGRIFR 3TF & & §
(4) TR & 9SO O & SR & 97 fefuey
& TAREISTH A

IR ()

B T + FEERIE — > TS
AUz + FEERLE —— TEHMSa

143. fi ¥ fafafag & 9 S9-91 3 o &l 3
HE-GaT fier 27

gt 1

(1) T GErenfsaer e, TRl o & T
(2) Tiiestl ITFRVT, W -0

(3) Tiieoll IUFV, TAEFAIS I §94T

@) T CErenfou e, T -STer

collegedunia:s

India’s largest Student Review Platform



144. Macro molecule chitin is
(1) Nitrogen containing polysaccharide
(2) Phosphorus containing polysaccharide
(3) Sulphur containing polysaccharide
(4) Simple polysaecharide

Answer (1)

Sol. Macromolecule chitin is a complex polysaccharide
containing amino sugars and chemically modified
sugars (2.2, glucosamine, N-acetyl galactosamine,
etc.)

145. The essential chemical components of many
coenzymes are
(1} Proteins
(2) Nucleic acids
(3) Carbohydrates
(4) Vitamins
Answer (4)

Sol. Essential chemical components of many coenzymes

are vitamins, €.£., coenzyme nicotinamide adenine
dinucleotide (NAD) and NADP contain the vitamin

niacin.

146. A stage in cell division is shown in the figure, Select
the answer which gives correct identification of the
stage with its characteristics.

(1) | Telophase | Nuclear envelop reforms,
golgi complex reforms.

(2) | Late Chromosomes maove away

Anaphase | from equatorial plate,
colgi complex not present.

(3) | Cytokinesis | Cell plate formed,
mitochondria distributed
between two daughter
cells.

(4) | Telophase | Endoplasmicreticulum
and nucleolus not
reformed yet.

Answer (1)

Sol. Telophase is reverse of prophase.

144, TR TR
(1) “WEESFT Uiidgge 2
() FIERETT YeaEE €
(3) FEHHT WieldaIse 8
(4) O UiEEe §

I (1)

W FeR] wEfeT afed Merdase 8 et siEl mea
T WARE TIRT T60 (S TERAEE, NS
AR anfe) B

145, 3R YEOATER & SETE AT ueE T &7
1) I

(2) FYERIE I
(3) FEEET
(4) Taafmr

I (4)

TH: T2 9ECEH & NE9EE WA 9T Baie R
¥ 4, TeYaH MR YA SRfreess
(NAD) T NADP ¥ Fafam faefe 2mr 81

146, T % SIS MG &1 U 31gedr 2 IR 2
FFed 1 WEI TEAH AR 9T 98 it i g

) | sicrrea FEhA HTRT GART T
(EreireT) R #, N A o
AR 9 S B
2) | et wrmEEr (d | R wEE =8 ¥R
AR | I, i o
<& 2Kl
@) | FfFrEE HIRET-T=ET T T
(arzrrrsfaw) 2, Wrdvnitzar
gy iR § Eaka
2 S 2
@) | e (Sritet) | wEfE Wgem it
S % T &
T el

IR (1)
T Jaer ydaen @ Aedd 39 2
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147. FieW-1% 27 W0 994 § 9 -39RE R S
¥ o0 9 FFMAT-TAT CF T -TUMH T aE
e w7 geel

147. Select the correct match of the digested products in
humans given in column I with their absorption site

and mechanism in column IT

Column I Column IT _ _
(1) | Glycine, glucose Small intestine, i ] e 11
active absorption (1) | womefim, mﬁa DT AT, IhFT
(2) | Fructose, Na* Small intestine ST
passive absorption (2) | voor . Na” 2T a3 e
(3) | Glycerol, fatty acids | Duodenum, move as ’ ; ’
chilomicrons - —
(4) | Cholesterol, maltose | Large intestine, (3) | frewarer, o swt e, Wﬂﬁ?ﬁ
active absorption & 3 # AR P E
(4) | =iergia, wreieT a3 ", Ay
Sol. Amino acids, monosaccharides like glucose,
electrolytes like Na* are absorbed into the blood by | IR (1)

active fransport.

T 3MFI 3, ARISUEE oY ST, SYTaTeeT S
Na* 9l a9z gr1 @& o JEaiid 3 21

148. T&F WHEEl FF A v W a=d = 9 f2ar S s
fawfam afz, afE e, e dfes avEe v
MR S Y W RO RS RO gem?

(1) 3R ¥ N8 = F@

() I B H A A= F FIT
(3) ARRIEZ U = HE

(4) 9 fedfor BT SifawaoT

TR (1)

¥ TR # AR AR 3 R T
QT YRR F IRYFH B B A g T 2R 2

149, T ¥ UG @I -9 FT T AN T3 T W
2 for¥ 9 9FiFS A, B, C3R DRY W 21 3w
I W8 YEUH § 99 -9Y 399 999 T 3R/ A
fafirear & fawes @1 gAT

148. A pregnant female delivers a baby who suffers from
stunted growth, mental retardation low intelligence
quotient and abnormal skin. This is the result of

(1) Deficiency of iodine in diet

(2) Low secretion of growth hormone

(3) Cancer of the thyroid gland

(4) Ovwer secretion of pars distalis
Answer (1)

Sol. Hypothyroidism during pregnancy causes detective
development and maturation of the growing foetus
leading to stunted growth.

149. The figure shows a diagrammatic view of human
respiratory system with labels A, B, C and D. Select
the option which gives correct identification and

main function and/or characteristic.

Bronchus

T I Tl FR
{Cut end of rib)
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(1) A - trachea - long tube supported by complete
cartilaginous rings for conducting inspired air

(2) B-pleural membrane - surround ribs on both
sides to provide cushion against rubbing

(3) C-Alveoli - thin walled vascular bag like
structures for exchange of gases

(4) D-Lower end of lungs - diaphragm pulls it
down during inspiration

Answer (3)

Sol. A - Trachea
B - Pleural membrane
C - Alveoli
D - Diaphragm

150. Figure shows schematic plan of blood circulation in
huamans with labels A to D. Identify the label and
give its functon/s.

(1) A - Pulmonary vein — takes impure blood from
body parts, PO, = 60 mm Hg

(2) B - Pulmonary artery — takes blood from heart
to lungs, PO, = 90 nun Hg

(3) C - Vena Cava - takes blood from body parts to
right auricle, PCO, = 45 mun Hg

(4) D - Dorsal aorta - takes blood from heart to
body parts, PG?. =95 mm Hg

Answer (3)

Sol. A — Pulmonary vein takes pure blood from lungs to
left atria.

B - Dorsal Aorta - takes blood from heart to body
partis.

C - Vena cava - takes blood from body parts to
right auricle,

D - Pulmonary artery — takes impure blood from
heart to lungs.

(1) A-TIG - 99 B 9 TR A T a0 9y
o 1T o w6 SRl W 9R WOF ¥ INRIS e
¥ fad 8% =/l 2
@) B-H"Ed - Toreh-weledl o7 o9 % ¥ 0
I e I TR 4 e R TS 1 E
T GR |
@) C-wfiEN - W & G 3 e e P
el FIE SN |
@ D-B63 & FEar By - 97T & A
TEHH 2 AN F WE Wi o 2
9w 3)
T A- T
B- WG el
C- FiFr
D- IR
150. I ¥ w9g & SR 9RERer F1 o dieEEE aIRd
TG T # T AR WA A ¥ D F A fERm
I X GE AT & 9 398 9 & faE ey
=l g

S\ P
(1) A-FFd I - fiiediefa sk = a3k &
Al & @E 2, PO, = 60 mm Hg
(2) B-BURG R - R & 59 9 %%d 9%
o Sl €, POE=90 mm Hg
@) C -WEfERr - TR Fr TR & 9EN ey e
IF A AR 2, PCO, = 45 mm Hg
(4) D -9 WEeMAr - ¥R &Y g2y A 9q & el
aF o 99 2, PO, =95 mm Hg
J (3)
T A- BRI BO-9%E 4 99 JnfeRE @ IF @
3 B
B JeSH WEHA -2 4 WA & 4Rl I Ed ol
7l
C WRRRT- IR P 9§ 2 snfae ¥ < A
D- EYEAN - B9 9 3gE G 6 BhS H
3 2
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151. The diagram given here is the standard ECG of a
normal person. The P-wave represents the

R

|

P T

(1) Contraction of both the atria
(

2} Initiation of the ventricular contraction
(3) Beginning of the systole
(4) End of systole

Answer (1)

Sol. In ECG, P wave represents the depolarisation of
atria which leads to the contraction of both atria.

152. Figure shows human urinary system with structures
labelled A to D. Select option which correctly
identifies them and gives their characteristics and/
or functions

(1) A-Adrenal gland-located at the anterior part of
kidney. Secrete Catecholamines which stimulate
glycogen breakdown

(2) B-Pelvis-broad funnel shaped space inner to
hilum, directly connected to loops of Henle

(3) C-Medulla - inner zone of kidney and contains
complete nephrons

(4) D-Cortex - outer part of kidney and do neot
contain any part of nephrons

Answer (1)

Sol. A - Adrenal gland
B - Renal pelvis
C - Medulla
D - Cortex

151. T8 U 9RIFT W9 T WA 3Eon (A gederd
1 I o mr &1 W-wr (W S9) T s 2
' R

h

P J
"_Q\l V_/\_/'\_

(1) T ARiE dEfE & @ 9
(2) e’ & HgE F FRA o @M |
(3) YHIT F IRH
(4) TRIT & T

I (1)

Bd: ECG ¥ PIGr 3fere & fR@EW & 29l €1 2F0
e & Fehad FT TR Bl

152, fov ¢ R ¥ 999 & 9T F @ T W 2
fSEe 3971 9% 9EEIR A Y DS AMiES R
21 39 faFer &1 9] e 9 e & ae-ue
Fag1 w9 fafvear SR/ srEr 1 i a9 €)1

(Crinary bladder}

(1) A-FRFFR W (P=) - gFF & I MK
foud, SEFRAGHT F T FE 3 S RN
& JUgEH F JLUd F 8

() B-gaFA (Meag) - AR (3EAH) & WK
F WG oo =ier SR I, =7 9E 9
U ® 4 9 B §

(3) C-UTN- Ik F A=A a7 ormd wqof AW
o B &
(4) D-FREY - gah =1 98l ¥hr 5wy ApE #5
Fg fowm = A
IR (1)
Bd: A
B -
& =

LEER B

IR A
b |

]

qvehd

-

D -
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153. Select the correct statement with respect to
locomotion in humans

(1) A decreased level of progesterone causes
osteoporosis in old people.

(2) Accumulation of uric acid crystals in joints
causes their inflammation.

(3) The vertebral colummn has 10 thoracic vertebrae.

{(4) The joint between adjacent vertebrae is a fibrous
joint.
Answer (2)

Sol. Inflammation of joints due to accumulation of uric
acid crystals is gout.

154, The characteristics and an example of a synovial
joint in humans is

Characteristics Examples

(1) | Fluid cartilage between | Kneejoints
two bones, imited
movements

(2) | Fluid tilled between two | Skull bones
joints, provides cushion

(3) | Fhuid filled synovial Joint between
cavity between two atlas and axis
bones

(4) | Lymph filled between | Gliding joint
two bones, limited between carpals
movement

Answer (3)

Sol. Joint between atlas and axis is pivot joint which is
an example of synovial joint characterised by the
presence of a fluid filled synovial cavity between the
articulating surface of the fwo bones.

155. A diagram showing axon terminal and synapse is
given. [dentify correctly at least two of A-D

(1) A - Receptor
C - Synaptic vesicles
(2) B - Synaptic connection
D-K*

153. Al ¥ 9 & 49 A 96 FeH g
(1) TORAT & &0 "R & FRIT gg AfFad A
ST (fer-aftear) 3 W ¥
(2) IREF A F ffed & W8 W U o 9
R Y g W B
(3) FIFF 2T H 10 THT FIEF o8 2l
(4) T9EE FHIEH @ 9 F aRr WeER 9y S
£l
F (2)
T YRR I ST b HROT G A FoH B4 T
FHealal 81
154, F950F § Toreder Gl & fasiwaN d o 39E0T 9T

GBI 1 FaTE

(1) |2 xR & drr s e it uty

(2) | afuai & 6 w0 T/, | TR 9 afEr
T T4 T

B) |F A R EwaE Y | Voo i i &
Wi 33 TR I A 3 |fer

(4) |3 w2 9w S w9 | wde & 9 Radt
W T, i 9 wafer

TN (3)

¥ e T ofded & i oY Of eRmr 9y B 21
ARG Al 6T IR 21 T < ARy & afr
o 9ag & A qEAiEaa 37 F WA W A 2

155, U & 3T R IR AW & aRe" § A ¥ 9|
D T AR GE F ¥ A 9 3 T 98-8

(1) A-ImE

(2) B -3t 9a=
D-K*
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(3) A - Neurotransmitter
B - Synaptic cleft
{4) C - Neurotransmitter

D - Ca**
Answer (1)
Sol. A - Receptor
B - Synaptic cleft
C - Synaptic vesicles
D - GCa"

156. Parts A, B, C and D of the human eye are shown in
the diagram. Select the option which gives correct
identification along with its functions/

characteristics

(1) A - Retina - contains photo receptors - rods
and cones.

(2) B - Blind spot - has only a few rods and cones.

(3) C - Aqueous chamber - reflects the light which
does not pass thwough the lens.

(4) D - Choroid - its anterior part forms ciliary

body.
Answer (1)
Sol. A - Retina
B - Blind spot
C - Aqueous chamber
D - Sclera

157. Which of the tollowing statement is correct in
relation to the endocerine system?

(1) Adenohypophysis is under direct neural
regulation of the hypothalamus.

(2) Organs in the body like gastrointestinal tract,
heart, kidney and liver do not produce any

hormones.

(3) Non - nutrient chemicals produced by the body
in frace amount that act as intercellular
messenger are known as hormones.

4} Releasing and inhibitory hormones are
produced by the pituitary gland.

(3) A - g
B - fAftes faex
(4) C -afud
D - Ca**
I (1)
W A -TE
B - fAftes faex
C- fmfees gfear
D-Ca**

156. F9 A9 & IR 9RT A, B, CH D 3RE ¥ =9iv 0
Z1 AT 7 G TR -9 39 5 /TRy

(2) B - 3U-f62-399 Fa9 TG IR TF BN 2
(3) C oI F¥ - I¥ JHW B Yaidd & odr
9l A9 W Y S IR A8 g

(4) D -Tdh T -(FIEE) - T S WRT
TN & 9961 B

IR (1)
T A-Sfewed
B- -fag
C-QFad I
D-2gqed
157. T 99 & 92 ¥ Frfelaa s & 9 fF -
o ol &7

(1) VEFRSOiGRA SRurene & 999 9 & dEge
e F T BT @

(2) MR & F[F 3, SN BT T, T, JFH IR
I T off B0 9 I R F

(3) TR BR o9 AT § 394 B89 99 IR U
W, S ARFEET SouaEs & & 4 T/
T &, TR FEdd 2l

@ FaE 3R 9o A9 IR & 6 fafeged
I BN 39 B €
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Answer (3)

Sol. Endocrine cells are present in different parts of the
gastro-intestinal tract, e.g., gastrin, secretin, GIP.

Atrial wall of our heart secretes a peptide hormone
called ANF {Atrial Natriuretic Factor). RH/IH are
produced by hypothalamus. Adenohypophysis is
not directly under neural control, it is under the
control of hypothalamic hormones, brought by
portal system.

158. Select the answer which correctly matches the
endocrine gland with the hormone it secretes and its
function/ deficiency symptom

IFH (3)

e TSI AT & fa wel § s R
U B #| o A, AAifed, GIP. SR g
& fere Tofa & twme 2 wfdg 2 1 @
ANF (Veasr Afeqiies FReF) Fad 2
RH/TH BEARRRE ¥ 9 €1 URREOwEae IRt
W ¥ 95F Auawr & J=E | S 21 ag fAdiRer
3T 20 I T TP 2 & FEET & e
BT B

158, I SE Y & 99 3% BR |iRT 2EE 9 39S
F / FHT qAT H GE AT FE 9 [GEeT F

T

Endocrine | Hormone Fuanction/
gland deficiency
symptoms
(1) | Anterior Oxytocin Stimulates
pituitary uterus
contraction
during
child birth
(2) | Posterior | Growth Civersecret-
pituitary | Hormone ion
(GH) stimulates
abnormal
growth
(3) | Thyroid Thyroxine Lack of
gland iodine in
ciet results
in goi1 fre
4} | Corpus Testosterone | Stimulates
lutenm spermatog-
eness

Answer (3)
Sol. Lack of iodine in diet results in goitre.
159. What is the correct sequence of sperm formation?

(1) Spermatid, Spermatocyte, Spermatogonia,
Spermatozoa

(2) Spermatogonia, Spermatocyte, Spermatozoa,

Spermatid

(3) Spermatogonia, Spermatozoa, Spermatocyte,
Spermatid

(4) Spermatogonia, Spermatocyte, Spermatid,
Spermatozoa

Answer (4)
160. Menstrual flow occurs due to lack of

(1) Progesterone (2) FsH

(3) Oxytocin (4) Vasopressin
Answer (1)

Sol. In menstrual cycle, menstrual flow occurs due to
lack of progesterone because progesterone maintains
endometritun for pregnancy.

AT S 2T FH / HATT AT
Ty
Q) | g T T2 F T Em &
fiRkged T T -
FHa T I
T B
(2) | 759 gfe M | Saa sfoeaaw 3
fifeqed (CH) FRT IS g
T FUA 2 B
3) | ydes Ty | o | aErR ¥ araéE
F 3P F FROT
v (TR u
T 2
(4) | =mra FRRRAT | v
e S YT T E

I (3)

¥ SER ¥ IAES N FA Y e Sk 7

159, Y] -FiToT =1 9 o T 27
(1) TR, TR, TN, TSRt (IH)
(2) TR, THEREE, TSI (TR, TS
(3) TR, WHEEIRT (TFN]), PRRERE, T
(4) THRWIET, THdEEE, FRIeS, TRESeT (TR

I (1)

160. g -RaT faat 9 & FRT S 87

(1) DAL (2) FSH (QHYETE))
(3) e (4) ST
I;N (1)

T T 956 ¥ W A AR 7 T HR BT
F FiF IR g 3 fore woRriftE @ R
T 2
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161. Which one of the following is not the function of
placenta? It

(1) Facilitates supply of oxygen and nutrients to
embryo.

(2) Secretes estrogen.

(3) Facilitates removal of carbon dioxide and waste
material from embryo.

(4) Secretes oxytocin during parturition.
Answer (4)
162. One of the legal methods of birth control is

(1) Abortion by taking an appropriate medicine

(2) By abstaining from coitus from day 10 to 17 of
the menstrual cycle

(3) By having coitus at the time of day break
(4) By a premature gjaculation during coitus
Answer (2)

Sol. One of the legal methods of birth control is periodic
abstinence in which couple abstain from coitus from
day 10 to 17 of the menstrual cycle.

163. Which of the following cannot be detected in a

.developing foetus by anmiocentesis 7
(1) Klinefelter syndrome
(2) Sex of the foetus
(3) Down syndrome
(4) Jaundice
Answer (4)

Sol. Amniocentesis is a foetal sex determination test

based on the chromosomal pattern in the ammiotic
fluid surrounding the developing embryo.

164, Artificial insemination means

(1) Transfer of sperms of a healthy donor to a test
tube containing ova

(2) Transter of sperms of husband to a test tube
containing ova

(3) Artificial introduction of sperms of a healthy
donor into the vagina

(4) Introduction of sperms of healthy donor directly
into the ovary

Answer (3)

161, FreiaiaT § ¥ -9 FE 399 F 98 27
(1) ¥ T JAFIS 3R 99F Iqa=l FI| F HEe
oG i !
(?) RIS & 9" el 7

@) Ho1 ¥ ¥ e SrdalaarET 99 A W # W
e o 9EEaT o 2

(4) TET & THY NIRRT 9T FE& 2
IR (4)
162, Fafa-FRE (¥ Foer) & fow o 3 fafr &
(1) I9gFd NGfEr ER T AT

Q) FE-IF T 10d 9 ¥ o 179 o7 a7 &F
q 9

(3) W A HEAT
@ Y F I TS T T

3K (2)

T gafy FRer 3 duies faftr omedlt wuw B fomf g
HG IF | 10 17 T P 9" O 99
@ 2l

163. T Rasier I ¥ I (VRRIRRRE) N
FrafeRas & ¥ Frush e ol =5 S udr?

(1) Tt REA

(2) TF & T

(3) =3 W

(4) Afem (Sifea)
I (1)

¥ uERetam mf & fow fAuir =1 9feer 2 S
TREHET T S O AR RS 9@ EEy
%y W 3 21

164, TR A= ¥ ATH T ARG 27
(1) o = I F YA W wEe
ARG &R 31 o 31Emy HieE =
) 99 & FHEOREE T @ F MEART &R
(3) @R A F OLHEVRN A FE 90 ¥ @ A
i & IR T I

(4) T T T RS A G B N B WK
T T

I (3)
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165, Which Mendelian idea is depicted by a cross in
which the F, generation resembles both the parents ?

(1) Inconiplete dominance
(2) Law of dominance
(3) Inheritance of one gene
(4) Co-dominance
Answer (4)
Sol. Co-dominance
166. The incorrect statement with regard to Haemophilia is
(1) It is a sex-linked disease
(2) Itis a recessive disease.
(3) Itis a dominant disease

4) A single protein involved in the clotting of

blood is affected
Answer (3)

167. If both parents are carriers for thalassemia, which is
an autosomal recessive disorder, what are the
chances of pregnancy resulting in an atfected child?

(1) No chance (2) 50%
(3) 25% (4) 100%
Answer (3)
Sol. Thalassemia-autosomal-linked recessive
AA-Normal
Aa-Carrier

aa-Disease
Aax Aa

|

AA:Aa:aa
1 2 7
N Cc D

1
Affected = E =25%

168. The diagram shows an important concept in the
genetic implication of DNA, Fill in the blanks A to C

DNA 2+ mRNA-E» Protein -Fiopezedby,

(1) A-transcription, B-replication, C-James Watson
(2) A-translation, B-transcription, C-Erevin Chargaff
(3) A-transcription, B-translation, C-Francis Crick
(4) A-translation, B-extension, C-Rosalind Franklin
Answer (3)
Sol. Central Dogma.

DNA Tmm:;m mBNA ‘J.’l:m:;l.:.ﬁun EFI'Q' A Er::-::;ﬁid: 3

165. T TEHRU F IR HIA-U A= TR R Ea
¥ omd F, W A & et ¥ R #7
1) 9o wafaEr
(2) yufdar =1 Fae
(3) ¥ SH & 9IRS
@) qE-yIEar
I (@)
TH: 9-99iaa
166, EMITHET &= O ¥ T F97 Fi-91 27
(1) 92 T f-weerw=t I 21
(2) T% T AYHIET A )
(3) 9% TF THET I 2|
4) TRR-Weq ¥ AT 99 & 9da vifaa
EiC e
IH (3)
167, af% 31 21 S JoRian, S Ta ARG STTHET

R 2, & o0 g € O o 4R w3 T .

(1) FIT 99T 81 2 () 50%
(3) 25% (4) 100%
JA (3)
we: Ao - ARFRE geeR S
AATNRY
AaTRF
ﬁ.ﬁ—iﬂT
Aaic Aa
AA:Aaaa
1 2 1
N ¢ D
LEES B %=25%

168. & T A DNA F AFhF R & O g
Yoy auial 21 Rag @El (A9 dFCdF)
I il

.@NA _A L RNA-B LW C“E'"a*' .

(1) A-ITEH, BIRAFATE, CAH I8
(2) AU, B-HoRaH, C3099 IRATE
(3) A-Igera, BIEeRH, CRiew

() AZTaEH, BIER, CIolfem el

I (3)
¥ I (A )

DNA 2809, ai’i“q“m‘qi-—» “ﬁ”“'s?raﬁ mﬁiﬁﬁ"' s
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169. Which enzyme/s will be produced in a cell in
which there i1s a nonsense mutation in the lac Y

gena?
(1) p-galactosidase
(2) Lactose permease
(3) Transacetylase
{4) Lactose permease and transacetylase
Answer (1)
170. According to Darwin, the organic evolution is due to
(1) Intraspecific competition.
(2) Interspecific competition.
(3) Competition within closely related species.
(4) Reduced feeding etficiency in one species due to
the presence of interfering species.
Answer (2)

Sol. ‘According to Darwin, the organic evolution is due
to interspecific competition.

171. The eye of octopus and eye of cat show different

patterns of structure, vet they perform similar
tunction. This is an example of

(1) Homologous organs that have evolved due to
convergent evolution.

(2) Homologous organs that have evolved due to
divergent evolution.

(3) Analogous organs that have evolved due to
convergent evolution.

(4) Analogous organs that have evolved due to
divergent evolution.

Answer (3)

Sol. The eye of octopus and the eye of cat (mammal) are
example of analogous organs because they differ in
the position of retina. In the eve of mammal, retina
is inverted in position.

172. Infection of Ascaris usually occurs by

(1) Drinking water containing eggs of Ascuris

(2) Eating imperfectly cooked port

(3) Tse-tse fly

(4) Mosquite bite

Answer (1)

Sol. Infection of Ascaris occurs by contamination of food
and water containing eggs of Ascatis.

169. 39 FlFHT F¥ FT-91/9 TSH I =RN/2R s
7 lac Y 9IF ¥ feie Sofadq 22

IR (1)
170. T & IR, 1T 9F1 T FRO 2
(1) A wirds afqaref
(2) SR 2T gfcoerat
(3) afrad: galE HiEisl & 99 gRewRt
(4) SR F Ao S & FRW U Wi
HI RIEAT H FA A
I (2)
T AT & IFER ST AEN seReE WUt F FRer
BT 2
171. SiFETE & AT 997 faeel & T &% G & e
JH-HAT 7, TR N 799 1 el €1 98 ISR 2
(1) S9N ST T 9 S fagm & FRw faefie
Y E
(2) TS ST FT AN YA ™ F R HER
BV &l
(3) TR S T S I A & R R
AL
(4) gl 3 1 S SvE e & @R fasia
| E
I (3)
T MRS & A9 9 Rl (W) @ 99 W A
® I B FTiE Fa Iegea v fufq

JERT-IT 2R €1 WA & A W gfeved Iadr Ru
% B 2

172. VRhRT T GFAY IWFI: fFad oRor 8em 87
(1) EPRT & S ¥ 9 9 & 99 T FRU
(2) YW T ¥ IHN W R § WG w @R f
FRI
(3) i AT T
(4) Fo F FRA 9
IR (1)

1o Y@RE T G g e 9 o1 9 2 #
FHRE & e B B
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173. The cell-mediated immunity inside the human body

is carried out by

(1) T-lymphocytes

(3) Thrombocytes
Answer (1)

(2) B-lymphocytes
(4) Erythrocytes

174. In plant breeding programmes, the entire collection
(of plants/seeds} having all the diverse alleles for all
genes in a given crop is called

(1) Selection of superior recombinants
(2) Cross-hybridisation among the selected parents
(3) Evaluation and selection of parents.
(4) Germplasm collection
Answer (4)
Sol. Germplasm collection/collection of variability

175. During sewage treatment, biogases are produced
which include

(1) Methane, hydrogensulphide, carbon dioxide
(2) Methane, oxygen, hydrogensulphide
(3) Hydrogensulphide, methane, sulphur dioxide
(4) Hydrogensulphide, nitrogen, methane
Answer (1)
Sol. Methane, CO,, H,S, H,.

176, A biologist studied the population of rats in a bam.
He found that the average natality was 250, average
mortality 240, immigration 20 and emigration 30.
The net increase in population is

(1) 10 (2) 15
(3) 05 (4) Zero
Answer (1)

Sol. Net increase in population
(B+I)-(D+E)

177. Which one of the following processes during
decomposition is correctly described?

(1) Fragmentation - Carried out by organisms such
as earthworm

(2) Humification - Leads to the accumulation of a
dark coloured substance humus which
undergoes microbial action at a very fast rate

(3) Catabolism - Last step in the decomposition
under tully anaerobic condition

(4) Leaching - Water soluble inorganic nutrients
rise to the top layers of soil

Answer (1)
Sol. Fragmentation is one of the steps during

decomposition, in which detritus is converted into
small fragments.
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178. A sedentary sea anemone gets attached to the shell
lining of hermit crab. The association is

(2) Symbiosis
(4) Amensalism

(1) Ectoparasitism
(3) Commensalism

Answer (2)

Sol. Facultative mutualism can be illustrated with the
example of sea anemone, which gets attached to the
shell of hermit crab. The sea anemone grows on the
back of the crab, providing camoutlage & protection
and, in turn, the sea anemone is transported about
reaching new food sources. This type of mutualism
is also called protocooperation.

179. Global warming can be controlled by

(1) Reducing deforestation, cutting down wuse of
fossil fuel

(2) Reducing reforestation, increasing the use of
fossil fuel

(3) Increasing deforestation, slowing down the
growth of human population

(4) Increasing deforestation, reducing efficiency of
energy usage

Answer (1)

Sol. Reducing deforestation, cutting down use of fossil
fuel results into reduction into one of the green
house gas, L.¢., CO,,

180. The Air Prevention and Control of Pollution Act
came into force in

(1) 1975 (2) 1981
(3) 1985 (4) 1990
Answer (2)
Sol. ® Air prevention and Control of Pollution

protection act -~ 1981
® Environmental protection act- 1986

® Water (Prevention and Control of Pollution) act
- 1974
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T o Y YNV FHarvr @ fAgEer ffHge - 1981
o TIEFUIY GO AR - 1986
o S (YUY RaErvr Fr fAga) fRifAe - 1974
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